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Sl. No.1
QBID:1531001

The following table shows the number of persons (in Thousands) who got affected by
‘COVID-19" pandemic in five different cities (A-E) of India and also presents the ratio of
affected male to female in them. Based on the data in the table, answer the questions 1-5:

City-wise Persons Affected by COVID-19

: Number of Affected | Ratio of Affected
City 7
(in Thousands) Male : Female
A 64 h:3
B 54 h:4
C 16 S |
D 48 T:B
E 27 L |

70 aTferRt ® 9 % 9 U= weh (A-E) ¥ Fifag-19" i gemrlt 9 ywifaa safeat i gen (g9 H)
ZuIis € B o 39 wwife mfgenstt it gam & qEut 1 o ot weqa R men 21 ww oo F smum
WU & 1 H 5 9% & It o

Fifae—19 ° yuifad wgr-an =afw

o i Gy D R S
g%y : Afeen

A 64 5:3

B 54 D:4

C 16 3+

D 48 T+H

E a7 2:1

Number of male persons affected by ‘COVID-19" in City ‘B’ is what percent more or less than
that of number of male persons from City ‘A’ who were affected by ‘COVID-19?

(1) 25% less
(2) 30% less
(3) 25% more
(4) 20% less

Fifgg - 19" ¥ ywifad wet - A % gEN il T h e | wias - 197 ° yfad we - B & e 6
e T afaema stftrs o1 0 27

(1) 25% =¥
(2) 30% ==

(3) 25% iR

(4)




20% =5

1[Option ID=21601]
2[Option ID=21602]
3[Option ID=21603]
4[Option ID=21604]

Sl. No.2
QBID:1531002

The following table shows the number of persons (in Thousands) who got affected by
‘COVID-19" pandemic in five different cities (A-E) of India and also presents the ratio of
affected male to female in them. Based on the data in the table, answer the questions 1-5:

City-wise Persons Affected by COVID-19

: Number of Affected | Ratio of Affected
City i
(in Thousands) Male : Female
A 64 F:3
B 54 b:4
C 16 S |
D 48 T:b
E 27 ! B |

70 aTferRt ® 9 % 9 U= weh (A-E) ¥ Fifag-19" i gemrlt 9 ywifaa safeat i gen (g9 H)
Z9IE M8 B 3R 3 uwifaq wfeensti 6t qor # TEN w1 AU W weqa feen e 21 3| arfers % amum
W UYH §& 1 ¥ 5 9% & I S

Fifae—19 @ nwfam wer-an ==

o i e Gy D R S
%Y : Afeen

A 64 5:3

B 54 5:4

C 16 3+

D 48 T+H

E a7 2:1

Find the average number of females who were affected by ‘COVID-19 in all the five cities.

(1) 14200
(2) 12600
(3) 16200

(4) 12200

ot 9= w0 ° ‘wifae - 197 9 v gfgenstt i sfaa s samEn)

(1) 14200
(2) 12600
(3) 16200

(4) 12200

1[Option ID=21605]
2[Option ID=21606]
3[Option ID=21607]
4[Option ID=21608]




Sl. No.3
QBID:1531003

The following table shows the number of persons (in Thousands) who got affected by
‘COVID-19 pandemic in five different cities (A-E) of India and also presents the ratio of
affected male to female in them. Based on the data in the table, answer the questions 1-5:

City-wise Persons Affected by COVID-19

3 Number of Affected | Ratio of Affected
City 7
(in Thousands) Male : Female
A 64 h:3
B 54 h:4
C 16 3:1
D 48 T:56
E 27 i S |

T aifers & uRg & Ui U= wEl (A-E) 7 ‘Fifag-19’ f memdt @ wwfie ssfwat 6 g (gew E)
oIS ¢ ? off 39 wwifed mfgenstt it qom d qewi #1 o ot wega R w21 @ oo % emum
WYY HE 1§ 5 9% & I A

Fifae—19 & yifae wer-an =afF

e i s Gt A S
ges : A

A 64 5:3

B 54 H: 4

C 16 s R |

D 48 T:H

E 27 21

In the context of City ‘D', if out of total affected males, 16%% are in the age group of

21-25 vears, 33% % are in the age group of 26-30 years and rest are in the age group above

30 vears, then find the total number of males from City D’ who are affected by ‘COVID-19
having age of 21-30 years:

(1) 16000
(2) 14000

(3) 12000

(4) 18000

st - D’ % Hed H Afy Fifaw - 19° ¥ ywifad F@ gEei H @ 16%%21-2536%353115%%,

a3 Lo

3
26-30 T FIWTEHF AN I 30N G AF W TR F e A & - D’ 7 21 - 30 99 F 37 T
% 39 YEN I F GEA FARY, A HIGS - 19° F Wi g7

(1) 16000
(2) 14000

(3) 12000

(4) 18000




1[Option ID=21609]
2[Option ID=21610]
3[Option ID=21611]
4[Option ID=21612]

SI. No.4
QBID:1531004

The following table shows the number of persons (in Thousands) who got affected by
‘COVID-19" pandemic in five different cities (A-E) of India and also presents the ratio of
affected male to female in them. Based on the data in the table, answer the questions 1-5:

City-wise Persons Affected by COVID-19

; Number of Affected | Ratio of Affected
City 7
(in Thousands) Male : Female
A 64 h:3
B 54 h:4
C 16 3:1
D 48 T:h
E 27 27

zq arferRt ® 9Rd % die = w=d (A-E) § ‘Fifag-19" i gemdt 9 ywifaa safeat i gen (gem ®)
Zuté ¢ 2 ofi S wwifeq wfgensdt it gon d qest 1 s ot s R T 2 ) @ arfos % emum

9 Yy 9 41 1 ¥ 5 dh o 3 At

Hifaes—19 & wifad sEr-an =af#

e e e Gty T A o S
759 : fe

A 64 5:3

B 54 H:4

C 16 B |

D 48 T+H

K 27 il

What is the difference between total number of males in cities 'B’, ‘(C’ and ‘E’ together and
total number of females in Cities ‘A’, ‘C’ and ‘I together who are affected by ‘COVID-19"?

(1) 15000
(2) 13000
(3) 12000

(4) 14000

& B, ‘C @ B FifdE - 19 8 ywifaw ges i Fa @ ot we A )¢ @ D | wifae-19 |

gwifea wfgensti $it $o dem & fra T i 27

(1) 15000
(2) 13000
(3) 12000

(4) 14000

1[Option ID=21613]
2[Option ID=21614]




3[Option ID=21615]
4[Option ID=21616]

Sl. No.5
QBID:1531005

The following table shows the number of persons (in Thousands) who got affected by
‘COVID-19 pandemic in five different cities (A-E) of India and also presents the ratio of
affected male to female in them. Based on the data in the table, answer the questions 1-5:

Citv-wise Persons Affected by COVID-19

3 Number of Affected | Ratio of Affected
City i
(in Thousands) Male : Female

A 64 b3

B 54 h:4

C 16 S |

D 48 T:56

E 27 2:1

39 aifcTRT § 9AG & Ui U= wE (A-E) 3§ ‘Fifae-19’ i gemidt ° ywfEa ssfwat f g (2 E)
ZuIis % ® 3 3 wwifaq wfeensti it gorn # 7N 1 oUW weqa fRen e 21 s| arfers & smem
WU T 1§ 5 a5 & I G

Fifae—19 & wwfam wEr-an =afF

e | i el A o S
geN : e

A 64 5:3

B 54 H:4

C 16 s R |

D 48 T:5H

E 27 LR |

What is the ratio of number of females in City ‘B’ and number of females in City D’ who are
affected by ‘COVID-19?7

1 2:5
(2) 4.5
(3) 5:6
(4) 6:5H

‘Fifag - 19" F wwife, vt ‘B’ ° wfgenssi i @ it wgt ‘D’ ° wfgensti i @@ #1 3994 2

) 2:5
(2) 4.5
(3) 5:6
(4) 6:5

1[Option ID=21617]
2[Option ID=21618]
3[Option ID=21619]
4[Option ID=21620]

Sl. No.6




QBID:1531006

Match List I with List I1
List I List II
National Coordinator Mandate for development of MOOCs
for SWAYAM

(Ay UGC-CEC (I)  Engineering Technical Courses
(B) NPTEL (IIy Certificate Courses
(Cy AICTE (IIT) UG and PG level non-technical eourses
(y IGNOU (IV) Self-paced and lifelong learning

courses
Choose the correct answer from the options given below :

(1) (A)-(IV). (B)~(D, (C)-(ID), (D)-(I1L)

(2)  (A)-(IID, (B)-(D), (C)-(IV), (D)-(IT)

(3)  (A)-(I1D), (B)-(D). (C)-(ID), (D)-(IV)

(4) (A, (B)-(V), (O)-(D), (D)-(IT)

geft-1 % ar geft-11 1 firem Fifsw -
g1 T-11
T TH=TE ‘T’ % foru g@m (MOOCs) ¥ fawm & fou
Aferem
(A) st - dda, ()  shfeafon aedieft aeasa
(B) w.4i.#E . (1) SO TS
(C) Tu.ams.HE . (1) 7.5f. o di.sf. ¥ & f-asdiehl argasn
(D) 79 (emg.SfwA.e7.g) (IV) T=a: gt 3R s7rsitas e agasy

Fir feu e foeReat § ® w3 w1 = Fifsw
(1) (A)-(IV), (B)-(D), (C)-(1D), (D)-(I1T)
(2) (A, (B)-(D). (C)-(IV), (D))
(3)  (A)-(1D), (B)-(D). (C)-(ID), (D)-(IV)
(4)  (A)-IID), (B)-AV), (O)-(D). (D))

1[Option ID=21621]
2[Option ID=21622]
3[Option ID=21623]
4[Option ID=21624]

SI. No.7
QBID:1531007




Which will you rate as a good 21 century teacher?

(A) Teacher A: Makes notes from various books and shares the xerox copy of notes to

the students to learn on their own.

(B) Teacher B: Uses presentation tools and explains the concepts followed by
discussion.

() Teacher C: Makes notes and writes the information on board and tells students to
copy and rote-learn.

[1)] Teacher D : Uses presentation embedded with graphic, videos and animation to

explain the concept and discusses with students.

(E)  Teacher E: Provides good quality videos before the class and discusses them in
classroom.

Choose the correct answer from the options given below :

(1) (D) and (E) only

(2) (A) and (B) only

(3) (B). (C) and (D) only

(4) (B). (D) and (E) only

a1 21 wrTedt % U =0 AT % w9 H e qearRd i ?

(A) s A fafas gl @ ded dan wa @ s 3% oEl & |y Aiem & Sfuem S e
*al 8, fee 3 @ fien ggor w90 |

(B) ¥=A19% B:  UEGAIRO1 oE 1 STAN HAT 8 N FUNnS HI TIE Fal g, s a@ ==
ardt 21

(C) 1= C:  Hieg 46 8 AR 98 w foraan @ qun farnfd & +idt 3 va F359 95+ &

fore =z 21

(D) F=gs D mifees, difsdl g vty & @iy sEuront T AT @ 3R IE 5 gy 9=t
T 2 |

(E) =a9& E:  %&1 d 9gH & 9gdl 378! U & difsdl YgH Far 8 3 e H 3k s H
o=t FAT 2 |

fra fou o fasedt # & Tt 3 F1 w=a Aifvw
(1) Fa (D) R (E)

(2) wHad (A) 3R (B)

(3) ad (B), (C) 3 (D)

(4) #Fad (B), (D) 3T (E)

1[Option ID=21625]
2[Option ID=21626]
3[Option ID=21627]
4[Option ID=21628]

Sl. No.8
QBID:1531008




Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) : Flipped classroom is a learner-centric effective model for [CT enabled

teaching-learning or blended learning.

Reason (R) : Students learn concepts through videos and in classroom, teacher-guided

discussions and problem solving is done in face-to-face mode.

In the light of the above statements, choose the most appropriate answer from the options

given bhelow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A)1s correct but (R) is not correct

(4) (A)is not correct but (R) is correct

f= 21 Fe fou o F ;U SAfieed (Assertion A) % ¥4 H foiflad ® @1 g50 35% FW9 (Reason R) % &9
g

A (A) - seafa wen oms. A, waffa sreamm-sifirm m d@gF sfiem w1 uw feneff -
higa gt ufest 21

F0T (R) : o difedt & meam 4 sEgnonet & 91§ digd 2 3 e 0 seas-faafih ==
AN G - TN -G % i o fRe S 8 |

39T HYA % e |, A9 i e fawed § @ gen 3ugda I w1 =9 i
(1) (A) 3 (R) 34 7 # 3 (R), (A) Fi 78 =men 2

2) (A) 3R (R) Tl @& &, «ifShd (R), (A) 1 &l = 4 2 |

(3) (A) wél 2, ©if (R) 9l 7d1 2|

(4 (A) @& 7@ 2, df (R) & 2

1[Option ID=21629]
2[Option ID=21630]
3[Option ID=21631]
4[Option ID=21632]

Sl. No.9
QBID:1531009

As per copyright laws, ‘Fair-use’ allows the limited use of copyright works for
(1) Commercial use
(2) Edueational purpoese

(3) Making videos
(4)




Making paid online course

FfIse FAT % FTER I I (R 99) e F fon widftuse i Fhai A sgefa gem Fw e
(1) aFnforfsaes 3ugm

(2) Hfer= va==

(3) dife =t

(4) qTAE-INGRT TS TSTHH dIT FHET

1[Option ID=21633]
2[Option ID=21634]
3[Option ID=21635]
4[Option ID=21636]

Sl. No.10
QBID:1531010

How many modules of e-content in four quadrant format are to be made for covering the
syllabi for one MOOC of 4 eredits?

(1) 20-30 modules
(2) 30-35 modules

(3) 35-40 modules

(4) 40-50 modules

Iqh iR yey 8 {-favraeg & frae argren 9w Hfec F wF g% (MOOC) ¥ 9gasd #1 i
U o o s = 77

(1) 20-30 HiggeH
(2) 30-35 ATgged
(3) 35-40 #IggeH
(4)  40-50 HiggeH

1[Option ID=21637]
2[Option ID=21638]
3[Option ID=21639]
4[Option ID=21640]

Sl. No.11
QBID:1531011

When it comes to data arrangement, qualitative research — must guard against the error of
(1) Segregation
(2) Reduction
(3) Expansion

(4) Control

321 AT % HHA | ToneHss iy g R 3fe @ wn e sravas 27

(1)
TFR




(2) HHI
(3) faeam

(4) o

1[Option ID=21641]
2[Option ID=21642]
3[Option ID=21643]
4[Option ID=21644]

Sl. No.12
QBID:1531012

Which of the following are advantages of personal interviews for research data?

(A) Personal appearance does not influence the respondent.
(B) Training the field staff iz inexpensive.

(o The method is flexible.

(I 1t permits greater depth.

(E) The identity of the respondent can be controlled.

Choose the correct answer from the options given below :

(1) (A), (B). (C) only
(2) (A), (C), (D) only
(3) (B), (D). (E) only

(4) (B). (C). (D) only

frferfiad & & =18 sy 3o & o Jafaas mamerd & oy 7
(A) =afFaTa ®9 € 99 B4 9 I & T W I T8 92T 2 |
(B) Hice w=% F ufvew frerd 2 |

(©) = ugf w=fieh 2

(D) 7 FE TRl HEH FA 2 |

(B) IR 3 g 61 vgam fFafa i sogsdt 21

H= few o famnedt § 9 @t 39 w1 994 Fifew

(1) FHad (A), (B), (C)
(2) @FHad (A), (0), (D)

(3)




Fae (B), (D), (E)
() Fad (B), (C), (D)

1[Option ID=21645]
2[Option ID=21646]
3[Option ID=21647]
4[Option ID=21648]

Sl. No.13
QBID:1531013

Which one of the following is parent organization of SCOPUS?

(1) American Chemical Society
(2) Thomson Reuters

(3) Springer
(4) Elsevier
frfafiaa 9 #Fa =g’ (SCOPUS) &1 He Ted 27
(1) T Hida FEEd
(2) ofFE T5eH
3 fa=r
(4) uedfaaw

1[Option ID=21649]
2[Option ID=21650]
3[Option ID=21651]
4[Option ID=21652]

Sl. No.14
QBID:1531014

Given below are two statements :

Statement [ :  Multivariate studies demand larger samples than univariate studies.

Statement I : Multivariate studies do not analyse the data sets involving several responses,

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement IT are false
(3) Statement Iis true but Statement II is false

(4) Statement [ is false but Statement I is true




H g1 Fya g e 2 -

FoF () :  Uhel-oR SEFTET hl ol § ag-oR AT 7 iU 93 Hiday TEvas 7 ¥
Fod (1) : @g-a0 A8 3% fRI1eT § Tafud oa a9=adi (221 428) &1 favew 78 +:d & |

IS Y o el |, A f6u 7 fawea 4 & @t 3w @ "9 Fifsu
(1) FH [ I H a3 2 |

(2) FF [ 3 I gH 38T 2 |

(3) F9H 197 2, Sfrd =99 1L 39T 2 |

(4) FuF [ 378 8, dfed %o (199 2 |

1[Option ID=21653]
2[Option ID=21654]
3[Option ID=21655]
4[Option ID=21656]

Sl. No.15
QBID:1531015

In the context of Research Methodology, what does the word Ontology refer to?
(1) Concepts and categories, their properties and relationships
(2) Research papers and journals and their citation

(3) Cancers, diseases and their treatments

(4) A word indexing method
iy ugfa & ged § g dwrn we e wefifa s g 7
(1) IFFYEOC T T, 396 0T ST TEY

(2) Y9 @@ U9 Y IR 3K 39 32000

(3) HEL, T 3 I 3TN

(4) UF GAFHIHO Tgfd

1[Option ID=21657]
2[Option ID=21658]
3[Option ID=21659]
4[Option ID=21660]

Sl. No.16
QBID:1531016

An effectively communicative teacher will ensure
(1) Uniformity in learning
(2) Student-learning outcomes

(3) Changes in personal 1deals

(4) Cultural integration

v et sifvsafasfie sems gitfrea wm:




M) freqor § wETm

(2) BE-Aftrm afom
(3) AT resn § giEdq

4) HT{—_nfﬁIEFQEE’IﬁT{ﬂT

1[Option ID=21661]
2[Option ID=21662]
3[Option ID=21663]
4[Option ID=21664]

Sl. No.17
QBID:1531017

In communication, interpretation of the message depends upon

(A) Transmission speed
(B)  Type of channel

(C) Order of information
(D Content character

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only
(2) (B)and (C) only

(3) (C)and (D) only

(4) (A) and (D) only

oruyvT H e il s fme w i

(A)  gumo Tfa

(B) =9 #1 9T

(C)  H=I-FH

(D) fowgaeg =1 T

Hre fou o famredl § @ @@t I #1 =9q Fifeu -
(1) A (A) 3 (B)

(2) =Had (B) 31 ()
(3) Had (C) 3 (D)

(4) Hae (A) 3 (D)

1[Option ID=21665]
2[Option ID=21666]
3[Option ID=21667]
4[Option ID=21668]

Sl. No.18
QBID:1531018




In terms of communication, a photograph is considered as a/an

(1) Balanced text

(2) Complex text

(3) Open text

(4) Closed text

e & ord § us Fom (RemmE) i foRm w0 O g S @ 7
1) wHgferd u

(2) Sfe= e
(3) Wit 913
(4) W2 US

1[Option ID=21669]
2[Option ID=21670]
3[Option ID=21671]
4[Option ID=21672]

Sl. No.19
QBID:1531019

Given below are two statements :
Statement I : Lack of voeabulary can be a serious deficiency in communiecation.

Statement Il : One’s vocabulary need not be too complex or simple for communication.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement I is true but Statement I1 is false

(4) Statement I is false but Statement I is true

f= & Fya fiu e §
w0 () :  v=a1 & WSN 1 31979 GeI901 § U 74 s7qufen & Tehar 2 |

w4 (1) : =afFa & weg-wenr =1 gemv % fore sga sife sfea =1 awa 2 smavas 78 21

I90EG FHYE et 1, Jie 2 o famedt § 9 g8t 3w =9e fifse

(1) FYE [T 98 2 |
(2) FYF 1 AR [ 2H 38T 2 |

& FyH [ T 2, wfed %oF 11 3789 2 |




1[Option ID=21673]
2[Option ID=21674]
3[Option ID=21675]
4[Option ID=21676]

(4) HuF [ 38T 8, dfe w0 1197 2|

Sl. No.20
QBID:1531020

Match List I with List II :

List I
Communication Codes
(A) Operational
(B)y Natural
(C) Ideological

(D))  Presentational

(1) (A)-(1D). (B)-(I1I). (C)-(IV), (D)-(I)
(2) (A)-(IV) (B)-(I). (C)-(ID), (D)-(I11)
(3) (A)-(I), (B)-(II), (C)-(ILL), (D)-(IV)

(4)  (A)-(IID). (B)-(IV). (C)-(D). (D)-(1I)

Tt 1
LI 3 FIS
(A)  OiCETEETS
(B) #&s
(C) Tenfi

(D) wEdfieT

(1) (A)-(ID, (B)-(I1), (C)-(IV), (D)-(T)
(2) (A)-(IV), (B)-(I), (C)-(IT), (D)-(I1I)
(3) (A)-(I), (B)-(ID), (C)-(I1T), (D)-(TV)
(4) (A)-(IID), (B)-(IV), (C)-(I), (D)-(1I)

1[Option ID=21677]
2[Option ID=21678]
3[Option ID=21679]
4[Option ID=21680]

Tt 1% @ g=ht 11 1 frem $ifsm )

List IT
Description

(I} Collective perception
(IT) Rules of appearance
(IIT)y Practices of production
(IV) Realistic

Choose the correct answer from the options given below:

g 11

II) weeal & fam
111) =i & dk afis
IV) aonddaeh

— e

feu mu foeredt # & s W 9=m e

Sl. No.21
QBID:1531021

1,4, 27, 16,7, 36, 343, .......

(1)

Find the missing term in the sequence given below:




64

2) 51
(3) 5H2
) 125

fr fau T 3w § R T Fan
1,4, 27, 16,7, 36, 343, .......

1) 64
(2) 51
3 52
@ 125

1[Option ID=21681]
2[Option ID=21682]
3[Option ID=21683]
4[Option ID=21684]

Sl. No.22

QBID:1531022
A person deposited some money at a simple interest rate for 3 years. Had he deposited the
money at 2% higher rate, it would have fetched Rs. 360 more. Find the amount of the money
deposited.

(1) 5000
(2) 4600
3) 6000
(4) 6100

forelt =afea 4 we == it W W 3 a9l & fou g ufyr s #i ) afg a7 2% s @ w ufe s feen
T, 99 38 360 %, 3 fer gar | s i 7s ufy aad |

(1) 5000
(2) 4600
3) 6000
(4) 6100

1[Option ID=21685]
2[Option ID=21686]
3[Option ID=21687]
4[Option ID=21688]

Sl. No.23
QBID:1531023

What is the average of first 40 natural numbers?
1 20

2 21
(3)




21.5

(4) 20.5

T9H 40 Tehd eI FI HEd F91 27
20

2 21

3) 21.5

(4) 20.5

1[Option ID=21689]
2[Option ID=21690]
3[Option ID=21691]
4[Option ID=21692]

Sl. No.24
QBID:1531024

After getting two successive discounts, a shirt with a list price of Rs.150 is available at
Rs.105. If the value of second discount is 12.5%, what is the value of the first discount?

(1) 25%

(2) 20%

(3) 20.5%

(4) 15.5%

21 TR g2 96 i % 91, 150 %, i sifhd Fimd arelt T FHe 105 . 9 s7eny § | afE g ge w
o 12.5% 2, a9 YUH 2 1 HE =187

(1) 25%

(2) 20%

(3) 20.5%

(4) 15.5%

1[Option ID=21693]
2[Option ID=21694]
3[Option ID=21695]
4[Option ID=21696]

Sl. No.25
QBID:1531025

A man takes 6 hours 30 minutes in going by a cycle and coming back by scooter. He would
have lost 2 hrs. and 10 minutes by going on cycle both ways. How long would it take him to
go by scooter both ways?

(1) 4 hrs., 20 minutes
(2) 8 hrs., 40 minutes
(3) 13 hrs.

(4) 5 hrs., 20 minutes




Ue SAfFT ATgRe § 9 A 3R Thel 99" A H 6 " 30 e o 81 30 g1 9 afha § 9 H 2
g2 10 e 1 T8 g7 &ia1 | 391 906 Tl 8 9 § 35! a1 Tma e 7

(1) 492, 20 fF=e
(2) 8%, 40 fime
(3) 1392

(@) 57, 20 fime

1[Option ID=21697]
2[Option ID=21698]
3[Option ID=21699]
4[Option ID=21700]
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In classical square of opposition if ‘Some S is P’ is given as false then which of the following
could be immediately inferred from it?

(A) C‘All Sis P is false
(B) ‘All S is P’ is undetermined
(C) ‘No S is P’ is undetermined
(D) ‘NoSisP istrue

(E) ‘Some S is not P’ is true

Choose the correct answer from the options given below :
1) (B), (D), (E) only
(2) (A), (C), (E) only
3) (B), (C), (E) only

(4) (A), (D), (E) only

fottay & i 4 afe, 'F5 S, P2 7od % &9 § o wiar B q« ffafiaa § @ o s a8 aema
forepren &1 T 27

(A) ‘ot S, PE Tom #

(B) mft S, P& srfwifa 2

(© ‘Fisft S, P Y afuifa @
D) ‘FERS P a@?

(BE) ‘oS PaE @@

drer fou o faeredt § @ @E S w1 994 i

(1) Faa (B), (D), (E)
(2)




Fad (A), (C), (E)
(3) @ad (B), (C), (B)
(4) Fad (A), (D), (E)

1[Option ID=21701]
2[Option ID=21702]
3[Option ID=21703]
4[Option ID=21704]
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Which of the following Fallacy involves defective Induction?
(1) Fallacy of Composition
(2) Fallacy of Division

3) The Argument from Ignorance

(4) Irrelevant Conclusion
Frefafiaa 7 3 form qeiwma 4 grool st wmite 22
(1) AT FH T
2) favm =1 awivE
(3) AFMA H T
(4) g e

1[Option ID=21705]
2[Option ID=21706]
3[Option ID=21707]
4[Option ID=21708]
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Given below are two statements :

Statement 1 :  Analogical reasoning is based on a likeness drawn between two or more

entities in one or more respects.
4 - .
Statement 11 : There could be argumentative as well as nonargumentative uses of analogy.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement [ and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true




= gt sy feo o 2

FoA () .  HIETIHETH d9h 31 a1 I9Y AfE TEqe | UH HUAT IuH AfE 3 7 off T FHEG W
i 2

®UA (11) : H1YA I TehicHe A T dhicHs T & Tl 2 |

I9U Y9 & el 4, J= fou o fawedi § @ gdt 3w o s

(1) FYE IR IIF TF 2 |

(2) FIF 13 11 g1 3187 2 |

(3) F¥ [ dcF 2, wifed Hoa 11 3789 2 |

(4) F9 | 38 2, cifed F9 1183 2|

1[Option ID=21709]
2[Option ID=21710]
3[Option ID=21711]
4[Option ID=21712]
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According to Classical Indian School of Logic (Nyaya) which of the following conditions must
be fullfilled by a true middle term (hetu)?

(A) It must be found in minor term (paksa).
(B) It must be found in all similar instances.
(C) It should not be found anywhere where major term (sadhya) is absent.

(D)  The minor term in which it is said to exist should not be impossible.
Choose the most appropriate answer from the options given below :

1) (A), (C), (D) only

(2) (A), (B), (D) only

3) (A), (B), (C), (D) only

(4 (A), (B), (C) only




g 9% "4 (7)) & san, fefafea 9 @ e ad A ofd o 927 92 (2q) @ o s =nfew?
(A) 38 @Y 9g (9&) F g S AR |

(B) 3@ oft gum feufai § arn s =g |

(C) =8 =@ F& ot urn 78 s wifee <t ug@ wg (@iea) o9 @

(D) =g ug fored sae H9g T F 9R | FE A 2, Ed T8 g 491eg |

9 2w o foseut 9 9 we® IugEd I 1 99 i
(1) e (A), (0), (D)

2 &9 (A), (B), (D)

(3 FF (A), (B), (0), (D)

) % (A), (B), (O)

1[Option ID=21713]
2[Option ID=21714]
3[Option ID=21715]
4[Option ID=21716]
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In which of the following means of knowledge a hitherto unseen object is known through
cognition of its similarity in some respects with an already seen object when one comes
across that hitherto unseen object?

(1) Perception (Pratyaksa)
(2) Non-Cognition (Unupalabdhi)
3) Comparison (Upmana)

(a) Postulation (Arthapatti)

frfafiaa & & 3 & form @mam 9, o@ a% odt 7 T I #, T <@l TS 9% % 919 FB 79 ° g69h
A % @ % HIEAH § T 161 & 94 hig 3 d 7 @l TS I H @l 27

(1) HEE

(2) FTeifed

(3) JI9HH

(4) I

1[Option ID=21717]
2[Option ID=21718]
3[Option ID=21719]
4[Option ID=21720]
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With respect to information technology, which statement best describes ‘Cache Memory™?

(1) USB memory connected to a Computer to increase its storage space.
(2) An area of memory that contains settings for operating the computer.

(3) An area of the hard disk that is used when there is insufficient RAM.

(4) High-speed memory that is included in devices to improve response time.

e drenfefl & gey °, #1991 F99 FW G F GH98 90T Fa1 87

(1) Foger ¥ §21 4 vH ot HAH Iqh YISO TUE & ggH F A

(2) FHH 1 97 &7 ad Foge aan F fou afdw w21

(3) = feew 1 v & fomeht 3w oo fhan e @ S st RAM &

(4) F=a nfq aren wA 58 fregm eren  gun aF % foro 3w @ wnfae faRen smar 21

1[Option ID=21721]
2[Option ID=21722]
3[Option ID=21723]
4[Option ID=21724]
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(Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  E-Governance is regarded as the ICT-enabled system in achieving Good
Governance.
Reason (R) : Empathy is one of the desirable characteristics of e-Governance.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3) (A) is true but (R) is false

(4) (A) is false but (R) is true

4= 3 %o fou mu # : uw sfiEeR (Assertion A) % %9 H foifigd ® @ gou 35F F01 (Reason R) %
®TH

afirraT (A) : S-TG4 I 3T=B1 MEA IH - H 2315 o & gafsla gomeft o &9 9 967 s 21
F10T (R) : aargyf 3. ft are fasaret § 9w 2|

ITUH FU9 & At 5, J9 f2u mu Gerei 9 3 wd 3w 93w fifsa

(1) (A) 3R (R) 2H1 781 # 3t (R), (A) it @& ==men 2




2 (A) i (R) 3 w8 3, A (R), (A) Fi Tt samen @ 2
(3) (A) & 2, wfF (R) o8t 781 2
(4) (A) =&t 98 2, ©fe (R) @t 21

1[Option ID=21725]
2[Option ID=21726]
3[Option ID=21727]
4[Option ID=21728]
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If you have a storage device with a capacity of 16 gigabytes, then how many 32 kilobytes files
can you fit in that device? (1KB = 1024 bytes)

1 28
(2) 218
(3) 2%
(4) 21

Ife 319k urE 16 imrege it &mWar JTe U WSRO 3YRI0l 21, 99 39 390 | fhdd 32 foRett wige wigew
@ ghd 27 (1 6 smeem = 1024 w15em)

(¥ 21
(2) 9219
(3) 22
(4) 21

1[Option ID=21729]
2[Option ID=21730]
3[Option ID=21731]
4[Option ID=21732]
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In the history of computing, Moore’s Law says that the number of Integrated Circuit (IC)
Chips in a Computer doubles every two years, which implies that computers become twice as
powerful every two years. According to Moore’s Law, how many years from now will
Computers be 32 times more powerful as they are now?

(1) 5 years
(2) 10 years
3) 12years
(4) 8 years

Fgfén & sfaem 4, 7 &1 Faw wean 2 6 Foge o =ufes afhe (10) oo & g g 3 ad 4 g
& Tt &, e oy 97 2 % Fge v & auil § & qon wfaderet & Sar @ 1 @ & I & emEn,
e | A7 fopaa Al #, Foger 3y 32 on sifes wifFaenedt & srem e 3 o 20

1 5y
(2 1099
) 129




(4) 8T

1[Option ID=21733]
2[Option ID=21734]
3[Option ID=21735]
4[Option ID=21736]
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Which of the statements given below are correct?

An Integrated Circuit (IC) is a collection of several circuits (transistors) packed on a single
chip. The invention of ICs in the history of computing led to:

(A)  increased reliability of computers.
(B) reduced cost of computers (because they could be mass manufactured).
(C) reduced size of computers.

Choose the correct answer from the options given below :

(1)  (A) and (B) only
(2) (B) and (C) only
(3) (A) and (C) only
(4) (A), (B) and (C)

= o o FoEl § & w9 T 27

us Hiehe (1C) ush fmma fau w0 9 R gon ome ufmdl (ofsrem) =1 @ur 2| gfen & sfoem § o
dt % 7Eaa" & woreaey fefalad gen -

(A)  FF T g3 favaedaa
(B) el it "d e (Fifh 39 S €6 W 3ced 2 T 2)

(C)  Fel &1 T g ATHFR
wét fawea g -

(1)  Fad (A) 3 (B)

(2) == (B) 3 (O)

(3)  shddl (A) 3 (C)
(4) whad (A) (B) 3 ()

1[Option ID=21737]
2[Option ID=21738]
3[Option ID=21739]
4[Option ID=21740]
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Which one of the following is a chemical treatment process of waste water treatment?

(1) Sedimentation
(2) Neutralization
(3) Aeration

(4) Adsorption




freferfiga 5 & el safie ot 3 siem i qaEfes siea il 27
(1) e
(2) frsgwe (=RemEsF)

(3) dmad

(4) IFEIIEU]

1[Option ID=21741]
2[Option ID=21742]
3[Option ID=21743]
4[Option ID=21744]
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Virus responsible for the spread of COVID 19 is
(1) SARS COV 19

(2) SARS COVII

(3) CORONA 19

(4) SARS COV I

FifIE - 19 % %oma & fow IoeEh T 2
(1) I 9 - 19 (vH.0.R.uE. 9.30.4.-19)

(2) gE ®F - 11
(3) HITET - 19
(4) 9@ &g - [

1[Option ID=21745]
2[Option ID=21746]
3[Option ID=21747]
4[Option ID=21748]
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‘Gobardhan’ scheme aimed at Cattle and other biodegradable waste in rural India is being
implemented by Department of Drinking Water and Sanitation in collaboration with the
following organisations:

(A)  Ministry of New and Renewable Energy

(B) Ministry of Petroleum and Natural Gas

(C) Department of Rural Development

(D)  Ministry of Enviroment, Forest and Climate change
(E)  Department of Animal Husbandry and Dairying

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) only
2 (A), (C), (D), (E) only
(3) (A), (B), (C), (E) only




) (B), (C), (D), (E) only

e 3R o fawm faefafas @ & g gnga & gegm @ geflo wrg § wash e e S
et dma smfie w afém TedE g = FEEE R E e
(A)  FEH 3 T st mem

(B)  Ugiferam iR wisfae g wared

(©)  Twior femer fawm

(D)  wAtEw, 59 3R SeEr giEdd TEred

(E)  w3Ted 37 3 fawm

= feu mu faeeai 4 9 odt I @ 999 fifsw

(1) =FaFd (A), (B), (C), (D)

(2) = (A), (0), (D), (E)

(3) ad (A), (B), (0), (E)

(4)  Faa (B), (0), (D), (E)

1[Option ID=21749]
2[Option ID=21750]
3[Option ID=21751]
4[Option ID=21752]
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Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A) :  Photochemical smog causes eye irritation.

Reason (R) : Photochemical smog has ozone as one of its constituents.

In the light of the above statements, choose the most appropriate answer from the options
given helow -

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct




ﬁ%&rmﬁqw%t{%ﬁw (AssertionA]%@ﬁ%f@‘ﬁ%ﬁiHﬂGﬂ%W (ReasnnR}ﬁ?Eﬂ
T

sifirre (A) TSI -THTEA YH-HIE0 (Flelehfiehel THAT) 9 H e 309~ Hal &l
F (R) : THSI-TH A-FIg0 % UF T & €9 § e gl 8|

39U YA F e H, A 3 T et § 4 ged 3ugad I #5199 Fif

(1) (A) 3R (R) i w6 F 3Tt (R), (A) 6t @t samen 2|

(2) (A) 3R (R) 31 @& &, &l (R), (A) 1 Gl = 74 2 |
(3) (A) T 2, @l (R) 58t 781 2|

@) (A) A T 2, dfF R) 7 R

1[Option ID=21753]
2[Option ID=21754]
3[Option ID=21755]
4[Option ID=21756]
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Hurricanes are tropical cyclone with surface wind speeds in excess of about

(1) 119 km/hour
(2) 71 km/hour

3) 51 km/hour

4) 47 km/hour

uie (2feR) sofetdtn Swam 2, e atae wa w e e e R afy et 2
(1) 119 f&. . me
(2 71 5. me

3) 51 w4 g
(4) A7 @

1[Option ID=21757]
2[Option ID=21758]
3[Option ID=21759]
4[Option ID=21760]

Sl. No.41
QBID:1531041




Given below are two statements :

Statement [ :  Value education is knowledge based and information oriented.
Statement Il : Value education is essential for holistic development of students.

In the light of the above statements, choose the most appropriate answer from the options
given below:

(1) Both Statement | and Statement 11 are correct
(2) Both Statement I and Statement I are incorrect

(3) Statement I is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement 11 is correct

Her 21 e feg o 2

oA (I):  Hoaweh fien se-anurid st gean-sE adt 21
wA (1) : oo foen faenfean & o fowm & fou sremars=s 2

3T Y T |, H fEu e faskedt § 9 gey 3ugw 3w 9 A
(1) &y [ 3 11391 |81 & |

(2) FY9 131 11 2H] Terd & |
(3) FuF [ | B, ifcrd &ea 11 77ed 2 |
(4) F9H [ Tora B, wifeed Fua 11 @&t 21

1[Option ID=21761]
2[Option ID=21762]
3[Option ID=21763]
4[Option ID=21764]
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As per UGC guidelines (2021) for Multiple Entry and Exit in Academic programmes, the
Academic Qualification Level 6 corresponds to

(1) B.A/B.Sc. (Hons/Research) degree
(2) Masters degree

3) PG Diploma

(4) Diploma

AFahE wEFEA § ag-fau ufafea i frfg *fed .0, % e fési (2001) % sgam swEfe
Tirgar =1 6 foroes oy gma 27

D /(s ) R




(2) e fEaft

3 ot S fesm
(4) fetm

1[Option ID=21765]
2[Option ID=21766]
3[Option ID=21767]
4[Option ID=21768]
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Identify the organisations/bodies which regulate Professional Education in the country.

(A) Indian Council for Agriculture Research

(B) Council for Scientific and Industrial Research

(C) National Council for Vocational Education and Training
(D) National Council for Teacher Education

(B)  Council of Architecture
Choose the correct answer from the options given below :
@ (A), (), (D), (E) only
2) (4), (B), (C), (D) only
3 (B), (C), (D), (E) only
4) (A), (C), (D) only
<91 # gioak fen =1 fafeme w0 e gl /fami f ggam fifsw
&)  uwdrE FY sFEyE i
(B)  dmfs in sftenfie sy gfteg
(C)  udta st e ofit wfego ofteg
(D)  T¥E e e e
() v ofwg (FEfe offs snfheaa)
fr faw e foepedi § & @t I 1 = Aife
(1) e (A), (0), (D), (B)
() e (A), (B), (0), (D)
3) F&d (B), (C), (D), (E)

(@) F=9 (A), (C), (D)




1[Option ID=21769]
2[Option ID=21770]
3[Option ID=21771]
4[Option ID=21772]

Sl. No.44
QBID:1531044

In ancient times some of the most prosperous civilizations, which were strong knowledge
based societies, included

(A) India

(B)  Egypt
(C) Japan
(D) Germany
(E) Greece

Choose the correct answer from the options given below :
(1) (A), (B), (C), (E) only
(2) (A), (B), (E) only
(3) (A), (C), (E) only
(@) (A), (B), (C), (D) only

T FIA H 3 TS THg TRIaisii § qegd H-3mEiia a9, 5 e 9

(A)  HIA

(B) fm

() SmHH
(D) A
(E) g™

H= feu o faeeut § € ot 3T w1 == fifeu
(1) F4d (A), (B), (O), (E)

(2) Fa (A), (B), (E)
(3) Fad (A), (O), (E)
() Fd (A), (B), (0), (D)

1[Option ID=21773]
2[Option ID=21774]
3[Option ID=21775]
4[Option ID=21776]
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During British rule in India who among the following observed that: “The Indian
Universities turn out only a discontented horde of office seekers, whom we educated for
places which are not in existence for them to fill”.

(1)




Curzon
(2)  Annie Besant
3) Dalhousie

(4) Macauley

a3 fafesr s ¥ v P & fra Romh £ ot fr: Curd Prafmerit @ Fa 9 9 ¥
Tog Iuliean] 1 gy ge Pk 8, B e 31 1d % fo R R, S 39 TR & oo sifee
e DN

(1) A
(2) wit fad=
(3) SerErsl
(4) HeH

1[Option ID=21777]
2[Option ID=21778]
3[Option ID=21779]
4[Option ID=21780]

Sl. No.46
QBID:1531046




Read the following passage and answer the questions :

In a very long historical perspective, political development has followed the same general
pattern: the forms of political organisation employed by different groups of human beings
have varied, and those forms that were more successful — meaning those that could generate
greater military and economic power — displaced those that were less successful. At this high
level of abstraction, it is hard to see how political development could have proceeded in any
other way. What is more important, however, is to understand the ways political evolution
differs from human evolution in three ways. First, in political evolution, the units of selection
are rules and their embodiments as institutions, rather than genes of human evolution.
Although human biology facilitates the formulation and following of rules, it does not
determine their content, and that content can vary enormously. Rules are the basis for
institutions that confer advantages on those societies employing them and are selected
through the interaction of human agents over less advantageous ones. Second, in human
societies, variation among institutions can be planned and deliberated, as opposed to
random. Human beings can rarely plan for unintended consequences and missing
information, but the fact that they can plan means that the variance in institutional forms
they create is more likely to produce adaptive solutions than simple randomness. However,
we can accept the argument that institutional evolution is not dependent on the ability of
human beings to design successful institutions: random variation and the prirnciple of
selection by themselves can produce an adaptive evolutionary outcome. The third way
political development differs from human evolution is that the selected characteristics —
institutions in one case, genes in the other — are transmitted culturally rather than
genetically. This represents both an advantage and a disadvantage with respect to the
adaptability of the system. Cultural traits, whether norms, customs, laws, beliefs or values,
can at least in theory be altered on the fly within the space of a single generation, as in the
spread of literacy among the Danish Peasantry in the sixteenth century.

Frefiga e+ 92 of gve F I dife

U Iy o faahs aftied § ueHifas 3gfawm 3 ue au am G & sEn fR 2 59 %
o= wEl g0 wgE TSIl e % F91 A A% T w9 A 9 F9, 1 g dfw i e wke
39 AT, 3 3 faedfua = fem, S W T R | SRl & 39 3Td T U1 98 Al ST Hied &
for 8 Teritfas g et o= ol @ o st 2 | SfA, 97 ane STl meepl @ R aerifas
Sefawm o yen 5 ol § "a Sefasm | = 2 ) veen, erifas Safamm | wma #i s gedn
& ®9 # fam o 395 qd w9 2t §, 9 % 5 ssfowm & i | gt g sfasmes e i e
% I9IEH H HegEd g 2, R ot 7y 39t favereeg o Faifa 58 s 2 o =7 favaesg sefys =
2 wed! 7| Frem wensti % omuw 2 2 3t 3% YgE F 9 GHIEl bl oW SEM Hd 8 i A
HERT I qET H WG Usied ol STafRAT & WIEAH ¥ IR 999 fRA1 Sl @ | gEO, "9Ed @Ee 5
graredi ® fawg i fifa ot 39 w faem-famst foen sn s 2, wafe agfees o foufa faodia 21
g% rfeod aftomsl st st gaar @t o & Fis o ga #, ofe 9 9z 2 6 9 39 e B
TS &1 Thd 7, 9 GEITTE w9 H S 8 3 36 g weny agfeedd i ged § g
AIYH! % 369 HA I 3F T9IET 2| Sfed, 89 98 a9 WeR i Tehd @ [ TR 3gfasE g%
geenal & Aftspen Fd 8§ w1 amar i 7 2 @ 3 agfees e o = = faga
U STFCHIHE Ia[IaRIETH THUTH 3e9 L Heohd 2 | dTe) ailh | Taifae fosm wea safawm 9 a4
firr 2 5 wafra fogard - o= e | Teund, o= A # S - oTgafie w9 F 99 giesfod ®9 9
Hafa & 21 T8 yoneft i SqEeeTRal & a1 w5 gE f gee 7 | anapfas fasees 9
areh, ffa-fars #rm favam o1 509 & - 9 8 49 faga # a1 o 99 & @ 9 yae w afafda B
ST gd 7, S fh dtergd saredt § 2 & fram o 6 anewr & fawaw § gen on|

Historically, the successful forms of political development were based on




) General patterns of human evolution

(2) Variations in political organisations
(3) Groups of people with aspirational goals

(4) Military and economic power

tfafts ®9 8 UsHITaF @ & awa ®9 fma 7 smurfa 2 7
(1) HHE IgfEHE % qrE e

(2) T et & v

(3) STHIE AL AT SH-TE

(@) #f= = anfd= wife

1[Option ID=21781]
2[Option ID=21782]
3[Option ID=21783]
4[Option ID=21784]
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Read the following passage and answer the questions :

In a very long historical perspective, political development has followed the same general
pattern: the forms of political organisation employed by different groups of human beings
have varied, and those forms that were more successful — meaning those that could generate
greater military and economic power — displaced those that were less successful. At this high
level of abstraction, it is hard to see how political development could have proceeded in any
other way. What is more important, however, is to understand the ways political evolution
differs from human evolution in three ways. First, in political evolution, the units of selection
are rules and their embodiments as institutions, rather than genes of human evolution.
Although human biology facilitates the formulation and following of rules, it does not
determine their content, and that content can vary enormously. Rules are the basis for
institutions that confer advantages on those societies employing them and are selected
through the interaction of human agents over less advantageous ones. Second, in human
societies, variation among institutions can be planned and deliberated, as opposed to
random. Human beings can rarely plan for unintended consequences and missing
information, but the fact that they can plan means that the variance in institutional forms
they create is more likely to produce adaptive solutions than simple randomness. However,
we can accept the argument that institutional evolution is not dependent on the ability of
human beings to design successful institutions: random variation and the prirnciple of
selection by themselves can produce an adaptive evolutionary outcome. The third way
political development differs from human evolution is that the selected characteristics —
institutions in one case, genes in the other — are transmitted culturally rather than
genetically. This represents both an advantage and a disadvantage with respect to the
adaptability of the system. Cultural traits, whether norms, customs, laws, beliefs or values,
can at least in theory be altered on the fly within the space of a single generation, as in the
spread of literacy among the Danish Peasantry in the sixteenth century.
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The foremost stage of political evolution contained




(1) Biological determination of norms

(2) Selection of political groups
(3) Institutionalisation of rules

(4) Understanding of political evolution
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Read the following passage and answer the questions :

In a very long historical perspective, political development has followed the same general
pattern: the forms of political organisation employed by different groups of human beings
have varied, and those forms that were more successful — meaning those that could generate
greater military and economic power — displaced those that were less successful. At this high
level of abstraction, it is hard to see how political development could have proceeded in any
other way. What is more important, however, is to understand the ways political evolution
differs from human evolution in three ways. First, in political evolution, the units of selection
are rules and their embodiments as institutions, rather than genes of human evolution.
Although human biology facilitates the formulation and following of rules, it does not
determine their content, and that content can vary enormously. Rules are the basis for
institutions that confer advantages on those societies employing them and are selected
through the interaction of human agents over less advantageous ones. Second, in human
societies, variation among institutions can be planned and deliberated, as opposed to
random. Human beings can rarely plan for unintended consequences and missing
information, but the fact that they can plan means that the variance in institutional forms
they create is more likely to produce adaptive solutions than simple randomness. However,
we can accept the argument that institutional evolution is not dependent on the ability of
human beings to design successful institutions: random variation and the prirnciple of
selection by themselves can produce an adaptive evolutionary outcome. The third way
political development differs from human evolution is that the selected characteristics —
institutions in one case, genes in the other — are transmitted culturally rather than
genetically. This represents both an advantage and a disadvantage with respect to the
adaptability of the system. Cultural traits, whether norms, customs, laws, beliefs or values,
can at least in theory be altered on the fly within the space of a single generation, as in the
spread of literacy among the Danish Peasantry in the sixteenth century.
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The variance in planned political institutions features




1 - . :
W Simple randomness of selection

(2) Adaptive solutions

3) Unintended consequences

(4) Absence of information
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(3) #ffesd qftom

(4) g1 i srafeafa
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Read the following passage and answer the questions :

In a very long historical perspective, political development has followed the same general
pattern: the forms of political organisation employed by different groups of human beings
have varied, and those forms that were more successful — meaning those that could generate
greater military and economic power — displaced those that were less successful. At this high
level of abstraction, it is hard to see how political development could have proceeded in any
other way. What is more important, however, is to understand the ways political evolution
differs from human evolution in three ways. First, in political evolution, the units of selection
are rules and their embodiments as institutions, rather than genes of human evolution.
Although human biology facilitates the formulation and following of rules, it does not
determine their content, and that content can vary enormously. Rules are the basis for
institutions that confer advantages on those societies employing them and are selected
through the interaction of human agents over less advantageous ones. Second, in human
societies, variation among institutions can be planned and deliberated, as opposed to
random. Human beings can rarely plan for unintended consequences and missing
information, but the fact that they can plan means that the variance in institutional forms
they create is more likely to produce adaptive solutions than simple randomness. However,
we can accept the argument that institutional evolution is not dependent on the ability of
human beings to design successful institutions: random variation and the prirnciple of
selection by themselves can produce an adaptive evolutionary outcome. The third way
political development differs from human evolution is that the selected characteristics —
institutions in one case, genes in the other — are transmitted culturally rather than
genetically. This represents both an advantage and a disadvantage with respect to the
adaptability of the system. Cultural traits, whether norms, customs, laws, beliefs or values,
can at least in theory be altered on the fly within the space of a single generation, as in the
spread of literacy among the Danish Peasantry in the sixteenth century.
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The transmission of select characteristics of political development is basically




1) Cultural

(2) Biological
3) Rhetorical
(4) Unsocial

Tt fawm it gfe s = = a0 w9 4 2
(1) HEFfaH
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Read the following passage and answer the questions :

In a very long historical perspective, political development has followed the same general
pattern: the forms of political organisation employed by different groups of human beings
have varied, and those forms that were more successful — meaning those that could generate
greater military and economic power — displaced those that were less successful. At this high
level of abstraction, it is hard to see how political development could have proceeded in any
other way. What is more important, however, is to understand the ways political evolution
differs from human evolution in three ways. First, in political evolution, the units of selection
are rules and their embodiments as institutions, rather than genes of human evolution.
Although human biology facilitates the formulation and following of rules, it does not
determine their content, and that content can vary enormously. Rules are the basis for
institutions that confer advantages on those societies employing them and are selected
through the interaction of human agents over less advantageous ones. Second, in human
societies, variation among institutions can be planned and deliberated, as opposed to
random. Human beings can rarely plan for unintended consequences and missing
information, but the fact that they can plan means that the variance in institutional forms
they create is more likely to produce adaptive solutions than simple randomness. However,
we can accept the argument that institutional evolution is not dependent on the ability of
human beings to design successful institutions: random variation and the prirnciple of
selection by themselves can produce an adaptive evolutionary outcome. The third way
political development differs from human evolution is that the selected characteristics —
institutions in one case, genes in the other — are transmitted culturally rather than
genetically. This represents both an advantage and a disadvantage with respect to the
adaptability of the system. Cultural traits, whether norms, customs, laws, beliefs or values,
can at least in theory be altered on the fly within the space of a single generation, as in the
spread of literacy among the Danish Peasantry in the sixteenth century.
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The inference to be drawn from the passage is that




(1) People design their political evolution.

(2) Political evolution is the replica of human evolution.

(3) Rule based institutions are indispensable to society.

(4) Cultural traits cannot be organismic to political evolution.
39T ey | e e 2 6
(1) < 39 Tifas 3gfamm i stfimer w3 2

(2)  Titfas 3gfamm wea sgfawm it sgfa 2
(3) Tram-anurfa geum o= # fau smfed )
() TiEHfas fasme TeHifos sefaem # fou Sfafm 78 & g 2

1[Option ID=21797]
2[Option ID=21798]
3[Option ID=21799]
4[Option ID=21800]
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Maximum percentage of investment under ‘Make-in-India’ by a Foreign investor is :-
(1) 47
(2) 48

(3 49
(4) 50
HH-F fear & i R faeh Fee gm Fem i =me st 2 -
(1) 47

(2) 48
(3) 49
(4) 50
1[Option ID=21801]
2[Option ID=21802]

3[Option ID=21803]
4[Option ID=21804]
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Which of the following is not a cause of conflict?

(1) Territorial Dominition

(2) Power politics
(3) Fight-for-freedom

(4) Peace proposal

foraferiiaa § & S -5 T99 %1 R0 T8 87




(1) S

) ofes Toritfa
(3) T & fm g
(4) wifq weamg

1[Option ID=21805]
2[Option ID=21806]
3[Option ID=21807]
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DB Shekatkar Committee was formulated to

(1) Improve “Teeth-to-Tail ratio of Indian Armed Forces

(2) Assess economic viability of Indian Armed Forces
(3) [Improve logistics

(4) Ratify defence treaties

€171, Sihea wfafa &1 e Frafafaa sggva & fou e mn o1 -
(1) bW T w9 & AY-g-2a S § GUW A

(2) vt Tere oI i ST w1 qeaTR S

(3) YA # GUR FA

(4) 7o it &1 SHEHET FE

1[Option ID=21809]
2[Option ID=21810]
3[Option ID=21811]
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Russian-Ukraine war is a form of

(1) Total war for economic supremacy
(2) Limited war

(3) Civil war
(4) Strategic Dominance
w=H-5 47 Tafataa § & fEms whm 27
1) iz
(2) #iwa g3

(3) TEIs

(4) TWIE Tq@

1[Option ID=21813]
2[Option ID=21814]
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4[Option ID=21816]
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Maritime Silk route was conceived by

(1)  Narendra Modi
(2) Shinzo Abe
(3) Donald Trump

(4) XiJinping

Tl faee el i Heern e o 7
(1) = HE
(2) fr=iw
(3) sH"E

(4) it fomfim

1[Option ID=21817]
2[Option ID=21818]
3[Option ID=21819]
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Full form of SAPTA is

(1) South-Asian Preferential Trade Agreement

(2) Sino-Australia Preferential Trade Agreement
(3) South-African Parity Trade Agreement

(4) South-American Policy Trade Agreement
WU AT HE TR

(1) mEg-ufiEA TEEEE T e

(2) arEH-sAEiferm Iwifee 35 uiie

(3) wEg-shEA Al 2 wiite

(4) wEg-swiE gita 23 ule

1[Option ID=21821]
2[Option ID=21822]
3[Option ID=21823]
4[Option ID=21824]
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Which nation had refused to join the League of Nations?

(1) France

(2) Germany
(3) USA
(4) Ttaly

form T 3 TeEw | Affom B9 @ s e an?

(1) ==




(2 g
(3) guy
(4) ==

1[Option ID=21825]
2[Option ID=21826]
3[Option ID=21827]
4[Option ID=21828]
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Who wrote the book ‘Art of War'?

(1) Sun Tzu

(2) Confucious

(3) Leo Tolstoy

(4) Machievelli
S S A e e o 37
(1) g™
(2) FHfr
(3) femm zreEAta
4) A
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2[Option ID=21830]
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Nagorno-Karabakh was fought between
(1) Armenia and Azerbaijan
(2)  Iran and Armenia
(3) Armenia and Turkey
(4) Armenia and Georgia
ATRAT-FTaE 1 g5 e 7o g T ?

(1) st =i e

() & siv smifEn
(3) smifmT o =

(4) SATFET S S

1[Option ID=21833]
2[Option ID=21834]
3[Option ID=21835]
4[Option ID=21836]
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Treaty of Versailles was signed in the year :-

(1) April 1919
(2) May 1920

(3) June 1921

(4) July 1918

FHeH |y W R 3§ wer G mne
(1) =@ 1919

(2) =% 1920

(3) 7 1921

(4) J=mE 1918

1[Option ID=21837]
2[Option ID=21838]
3[Option ID=21839]
4[Option ID=21840]
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What was the immediate cause of World War — I?

(1) Assassination of Duke of Ferdinand

(2) Annexation of Germany

(3) Fall of Poland

(4) Fallof Italy

fara gg- 1 =1 Archiicis SR &0 917
(1) == 7% Fiears & 7=n
(2) it =1 st

(3) WTitE =1 uEA

(4) szt =1 oA

1[Option ID=21841]
2[Option ID=21842]
3[Option ID=21843]
4[Option ID=21844]
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‘Six-fold’ policy was propounded by
(1)  Tiruvalur
(2) Machiavelli
(3) Chandra Gupta Maurya
(4) Kautilya
- Hifa 1 wiamg frees g fEm mn e

(1)




femaeg
(2) et
(3) =W W
(4) =

1[Option ID=21845]
2[Option ID=21846]
3[Option ID=21847]
4[Option ID=21848]
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Which year NAM (Non-Aligned Movement) was launched?

(1) 1961
(2) 1971
(3) 1981
(4) 1991

AW (EfRe wEem) e ad e e e

(1) 1961
(2) 19711
(3) 1981
(4) 1991

1[Option ID=21849]
2[Option ID=21850]
3[Option ID=21851]
4[Option ID=21852]
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Who was the President of erstwhile USSH when it was disintegrated?

(1) Mikhail Gorbachev

(2)  Boris Yeltsin
(3) Nikita Khrushchev

(4) Leonid Brezhnev

TH 7 UF UH AW % f99e % o9 35 Tghe w1 917

(1) foEEe TEEE
(2) wif Foafe

3) (EIEmI EF\';?—G[
(4) foamE sea

1[Option ID=21853]
2[Option ID=21854]
3[Option ID=21855]
4[Option ID=21856]
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Where is IAEA Headquarter located?
(1) Vienna
() Vietnam
(3) Vladivostok
(4) Yemen

WA, N qEAed FE fead 27

1) fm
(2)  fgmm
(3) EEME®

(4) #m9

1[Option ID=21857]
2[Option ID=21858]
3[Option ID=21859]
4[Option ID=21860]

Sl. No.66
QBID:111016

Who attacked Argentina in Falk Land war?
(1) Great Britain
(2) France

(3) Spain

(4) Germany

FIFAS-JE | -2 W 5 59 7 SRR e it
(1) 7= frm

(2) ®™

o

(3) w4
(4) =T

1[Option ID=21861]
2[Option ID=21862]
3[Option ID=21863]
4[Option ID=21864]
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NBC Warfare refers to :-

(1)  Nuclear-Based-Conflict

(2) Non-Biological-Centric

(3) Nuclear-Biological-Chemical

(4) Non-Biclogical-Conflict




T i =t g T FHeha w27
(1) =fFer-smafa o
() d-Sfem-Ffza
(3) Affem-fas-ramafts

(4) i
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2[Option ID=21866]
3[Option ID=21867]
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Asymmetric warfare refers to :-
(1) Two equal forces
(2)  Powerful Vs. weaker forces

(3) Two weak forces

(4) Two powerful forces

fomm 75 1 0 T R 7

(1) 3 FAE 8 5
(2) s w=m FHER &= =
(3) = Fuuw A= 9=

(4) @ SiFeTe! &= =i

1[Option ID=21869]
2[Option ID=21870]
3[Option ID=21871]
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Aksai chin is part of which nation?

(1) India

(2) Australia

(3) Pakistan

(4) Nepal

HFAS <N fope e ol fewdr 27

(1) 4HEd

(2) Tt
(3) WirFEH
(O]




1[Option ID=21873]
2[Option ID=21874]
3[Option ID=21875]
4[Option ID=21876]
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Who is the Missile Man' of India?

(1) APJ Abdul Kalam

(2) Vikram Sarabhai

(3) Hargobind Khurana
(4) (CV Raman
wia 1 fimmse 8 feg #ad 27

 THLSH. 37egel Feam

(2) foprm wwE
(3)  wtEE oA
(4) #idt mE

1[Option ID=21877]
2[Option ID=21878]
3[Option ID=21879]
4[Option ID=21880]

Sl. No.71
QBID:111021

No first use of WMD in outer space was proposed by :-

(1) UNFPA
(2) UNPDF
(3)  UNSC
(4) UNCA

Al S 7 e UH S W 9gW A ey w1 s e e
1) gmTsEdiy

(2) 1 St

(3) AwuaH

(4) 3@ H T

1[Option ID=21881]
2[Option ID=21882]
3[Option ID=21883]
4[Option ID=21884]

Sl. No.72
QBID:111022

Which Tribunal tried Nazi leaders after Second World War?




() Nuremberg Tribunal

(2) Bonn Tribunal
Berlin Tribunal
(3)

(4) Hannover Tribunal

o fawa 93 = Ty Al Jmet W R Sty 5 g S 9t

(1) =R =TT
(2) =i =mErfaEm

(3) =fe =mnfam

(4)  EHIE AT

1[Option ID=21885]
2[Option ID=21886]
3[Option ID=21887]
4[Option ID=21888]

Sl. No.73
QBID:111023

Malabar Naval exercise was conducted between which nations?

(1) India, USA and Japan

(2) India, Singapore and Japan
(3) India, Srilanka and Maldives

(4) India, Maldives and Australia

AR At s fe-fe agt % v e omne
(1) W, 3,041, 1 A19H

(2) HRd, Ty qun SmaE

(3) W, #ieteht 9 ArAera
(4) YR, ATetdd a0 eforn

1[Option ID=21889]
2[Option ID=21890]
3[Option ID=21891]
4[Option ID=21892]

Sl. No.74
QBID:111024

One nautical mile is equal to :-

(1) 1.5kms

) 1.6 ..
3 1.7 f6..




4)
1.8 fep .4,

) 1.5 ..

(2) 1.6 fondi.
3) 1.7 T4,

(a) 1.8

1[Option ID=21893]
2[Option ID=21894]
3[Option ID=21895]
4[Option ID=21896]

Sl. No.75
QBID:111025

Who was the first Field Marshal of Indian Army?
(1) Gen K.M. Cariappa
(2) Gen SAM Manekshaw

(3) Gen JN Choudhary

(4) Gen DS Palit

AHAT AT 1 99H $ies A & =97
(1) TS .TH. FFo

(2) wet vH.UuH, JHEE

B3) g I =

(4) =T E1.0H. mied

1[Option ID=21897]
2[Option ID=21898]
3[Option ID=21899]
4[Option ID=21900]

Sl. No.76
QBID:111026

India’s highest Gallantry Award is :-

(1)  Param Vishist Sewa Medal (PVSM)

(2)  Ati Vishist Sewa Medal (AVSM)
(3) Kirti Chakra (KC)

(4) Param Vir Chakra (PV(C)

WA 1 T SR T §
@ g fafie g vea (f )

(2) zfa fafee o= w== (vt vm ow)
(3)




Fifd = (% )
(4) WA IR =% (9 & =)

1[Option ID=21901]
2[Option ID=21902]
3[Option ID=21903]
4[Option ID=21904]

Sl. No.77
QBID:111027

1857 Revolt started from which city?
(1) Aligarh
(2) Caleutta
(3) Meerut
(4) Lucknow
ad 1857 %1 fage-frm wer & www smw gan?
(1) lg

(2)  wEwm

(3) "=

(4) dg@1x

1[Option ID=21905]
2[Option ID=21906]
3[Option ID=21907]
4[Option ID=21908]

Sl. No.78
QBID:111028

There avre —————— Army commands in India.

(1) 05

(2) 07

(3) 09

4) 11

WA § ——— & FAIS Ed 2
(1) 05

(2) 07

(3) 09

4 11

1[Option ID=21909]
2[Option ID=21910]
3[Option ID=21911]
4[Option ID=21912]

Sl. No.79
QBID:111029

(Gaza Strip is in which country?

(1)




Israel
(2) Syria

(3) Lebanon

(4) Jordan
e Tedt fRm gw A feum 27
(1) s«
(2) difEn
(3) @AM
1) =g

1[Option ID=21913]
2[Option ID=21914]
3[Option ID=21915]
4[Option ID=21916]

Sl. No.80
QBID:111030

Palk Strait connects which countries?

(1) India and Srilanka

(2) India and Mauritius

(3) India and Maldives

(4) India and Pakistan
e 22 5 gl # e 27

(1) wa it e

(2) 9FA 3R AREE

(3) RT S e

(4) YEA ¥R uriEE

1[Option ID=21917]
2[Option ID=21918]
3[Option ID=21919]
4[Option ID=21920]

Sl. No.81
QBID:111031

Battle of Longewala was fought in which sector?

(1)  Desert
(2)  water
(3) Air

(4) Mountains

Firaren gz e TR F &= § w9 = a7




(1)

e
(2) =
(3) a1

o

(4)

1[Option ID=21921]
2[Option ID=21922]
3[Option ID=21923]
4[Option ID=21924]

Sl. No.82
QBID:111032

Where is the highest battle field located?
(1) Siachen
(2) Alps
(3) Urals
(4) Andes
fova & w31 9 =1 HgF e feuw 27

(1) faf=a

) segm
(3) IueH
(4) T=E=

1[Option ID=21925]
2[Option ID=21926]
3[Option ID=21927]
4[Option ID=21928]

Sl. No.83
QBID:111033

TAPT pipelines for energy transportation has been opposed by :-

(1) Turkmenstan

(2) Pakistan
(3) India

(4) Afghanistan

HAl ufied 7 A U g ugvensa % farrg femes g TR man e
(1)  gEafEe

(2) ifreae
(3) wma
A

(4)




1[Option ID=21929]
2[Option ID=21930]
3[Option ID=21931]
4[Option ID=21932]

Sl. No.84
QBID:111034

As per SIPRI report, South-Asia is the most unstable region in the World.
(1) 5w
(2) 4tk
(3) 3+
(4) 9
afeqor ufdran fava o Haitus wfem &= 2|
1) gim=t
(2) =
(3) =

(4) 80

1[Option ID=21933]
2[Option ID=21934]
3[Option ID=21935]
4[Option ID=21936]

Sl. No.85
QBID:111035

Asharg-Al-Awsat is owned by :-

(1) Saudi Arabia

(2) UAE
(3) Iran
(4) Iraq

WA~ - SRAT h T | 87
(1) TFE FE

(2) §g% s FHiE (303)

3) &=

(4) =

1[Option ID=21937]
2[Option ID=21938]
3[Option ID=21939]
4[Option ID=21940]

Sl. No.86
QBID:111036

Which one of the following is a permanent condition for power-conflicts between States?

(1) Internal balancing

(2) Security dilemma




(3) External balancing
(4) Both (1) and (2) above
= % 9 it wadt gow & fow frafafea § @ Fe-warh o 2e
(1)  SHElEh HgeH
(2) g Fadi gfam
(3) @@ HIEH
(4) M ITEE (1) 30 (2)

1[Option ID=21941]
2[Option ID=21942]
3[Option ID=21943]
4[Option ID=21944]

Sl. No.87
QBID:111037

Who is the ‘architect’ of US cold war policy of containment?

(1) Morgenthau
(2) John Herz
(3) George Bush

(4) George F. Kennan

ffafaa % & = =af® 9,09, fia 9g = 0% @ 6 Hifs = gar 27

1) mEEg=
(2) wiq&d

(3) s g
(4) = TF. FH

1[Option ID=21945]
2[Option ID=21946]
3[Option ID=21947]
4[Option ID=21948]

Sl. No.88
QBID:111038

Complex interdependence is related to theory of :-

(1) Realism

(2) Constructivism
(3) Neo-liberalism

(4) Neo-Realism
TR e P fag & w27
(1) T

(2) Ffacfam
(3)




EEREHIEIH
@ FI-IY1aTE

1[Option ID=21949]
2[Option ID=21950]
3[Option ID=21951]
4[Option ID=21952]

Sl. No.89
QBID:111039

Investment of Ijtihad refers to
(1) Development of new rules of law
(2) Development of new rules of taxation

(3) Development of new rules of financing

(4) Development of independent Muslim thinking

sfsrerg =1 wegw Fored atia 27
(1) fafy & u Fadi = fawm
(2) FUgH % U i = fGwm
(3) Tam-umw % =u Fam = fawm
(4) Tmm F 0 Fmm =

1[Option ID=21953]
2[Option ID=21954]
3[Option ID=21955]
4[Option ID=21956]

Sl. No.90
QBID:111040

Where is the NCOR (National Centre for Ocean Research) located?

(1) Goa

(2)  Maharashtra

(3) Odisha

(4) Tamilnadu
uA di #i SR (ATEe S G sieH faad) wE fem 27
(1) =
(2) HERTZ
(3) =

(4) wfHerTg

1[Option ID=21957]
2[Option ID=21958]
3[Option ID=21959]
4[Option ID=21960]

Sl. No.91
QBID:111041




‘Hellas’ is a historical manifestation of ‘State’ in :-

(A) Greece

(B) Latin America
() Ancient Persia
(0] Aztec Civilisation

(E) Mesopotamian Civilisation

Choose the correct answer from the options given below :
(1) Aonly

(2) A BandE only

(3) A, BandC only

(4) A, B, CandDonly

Faw frafafiaa 4 4 fredl Ufaefis sfisafs 27

(&) T
(B)  wifea smiftm
(C)  w=HHE wA"

(D)  U=ew weEE
(E)  w&mreieen i g

fot fa e foepe A @ Tt 3 0 = Aif
(1) Faa A

(2) FaaA, BIRE

(3) FaAA, BsRC

(4) HFaa A, B C#HTD

1[Option ID=21961]
2[Option ID=21962]
3[Option ID=21963]
4[Option ID=21964]

Sl. No.92
QBID:111042

‘Circle of States’ concept was developed by

(A) Napoleon

(B) Chanakya

(C) Ashoka

(D)  Chandragupta Maurya
(E) Machiavelli

Choose the correct answer from the options given below :
(1) AandBonly

(2) Bonly




3
@) A, B and C only

(4) B, D and E only

Tfdhe ATF wed H1 Theu o sl #7

(A oA
(B) =M
(C) o=

(D) =W HH
(E)  AfFmaet

T feu mu Taeredl © | @ 390 =1 =984 Fifaw
(1) =Ha«a A=t B

(2) == B
(3) @@ A BanmC

(4) #FE@ B D#HRE

1[Option ID=21965]
2[Option ID=21966]
3[Option ID=21967]
4[Option ID=21968]

Sl. No.93
QBID:111043

‘Worthy Allies” by Chanakya included the following

(A) One who exherts himself on behalf of the alliance
(B) One who is worthy of respect

(C) One who is estranged due to action of Traitors
(D) One who is not amenable to be controlled

(E) One who is loyal as long as it helps

Choose the correct answer from the options given below :
(1) Aonly
(2) B, CandD only

(3) B, CandE only

(4) A, BandC only




= & I f' § Ei et 27

(A) =i =afe SR A SR E = S i w2
(B) =% =af o 99 %1 9 £

(C) = =l S gar e % oy srem = femn e &
(D) =& =4tk fam w Faao 48 foran = g@=an 20

(E) =% <At 99 a% 99| 9= 8, 99 9% 98 "eg £l
o=t feu T, Tomredl & | @ 390 %1 =94 Hifau
(1) F34 A

(2) == B, CsRD
(3) #aa B, CRE

(4) Faa A B C

1[Option ID=21969]
2[Option ID=21970]
3[Option ID=21971]
4[Option ID=21972]

Sl. No.94
QBID:111044

Basil H L. Hart was a military strategist of

(A) 20t Century
(B) 21+ Century
() 19t Century
(D) 18t Century
(E) 17t Century

Choose the correct answer from the options given below :

(1) Aonly

(2) Bonly
(3) CandE only

(4) DandE only

=t w=.uw. B frm wamest @ &= wEifamE ar?

(A) 20 # wEwEE
(B) 21 =f wam=)
(C) 19 = s=m=)
(D) 18 = wEwEE
(E) 17 9f vl
o o o forhel 9 @ @l 3w 1 e hife

(1)




Fad A
(2) %= B
(3) FACIRE
(4) #FEADITE

1[Option ID=21973]
2[Option ID=21974]
3[Option ID=21975]
4[Option ID=21976]

Sl. No.95
QBID:111045

Who opined ‘Society’ as comprising of two separate economic classes?

(A)  Ho Chi Miah

(B) V Lenin

(C) James Wittgenstein
(D) F W Taylor

(E) Karl Marx

Choose the correct answer from the options given below :

(1) Aand B only

(2) BandC only

(3) CandD only
(4) Eonly

Toreehl T W mETe 5 Taa-Tim sl it | foem = 27

(v @fefm
(B) i wf=
() = faesfE=m

(D)  UF s o
(E) =i @

o=t Teu T, Toepedl & | & 390 1 =94 Hifau
(1) Fa= ARB
(2) FEaBaERC

(3) Faa C 3D

(4) FFAE

1[Option ID=21977]
2[Option ID=21978]
3[Option ID=21979]
4[Option ID=21980]

Sl. No.96
QBID:111046




NTBT (1963) permitted nuclear tests in :-

(A) Atmosphere only
(B) Underwater only
(C) Underground only

(10)] Outer space only
(E) All of the above

Choose the correct answer from the options given below :

(1) Aand Bonly
(2) Conly
(3) Band Conly
(4) C,D and E only
w & At A (1963) 3 AfFa e £ wuly Frefafea § 9 w21t 47
(A)  aEe = o
(B) Faa 9 & A=
(C) Faagmd#
(D)  Faw aT ARy |
(E) 37w =it

forel o o el @ @ el 39 1 = ifs
(1) = A B

(2) = C

(3) FFa BshC

(4) #aa C, D & E

1[Option ID=21981]
2[Option ID=21982]
3[Option ID=21983]
4[Option ID=21984]

Sl. No.97
QBID:111047

National Front (1962) in Vietnam liberated South Vietnam promised to :-

(A) Release all political prisoners unconditionally
(B) Guarantee freedom to all parties

(C) Freedom of press

(D) Hold elections for new assembly

(E) Eliminate American Trade monopoly

Choose the correct answer from the options given below :

(1) Aand B only




(2) BandConly

(3) CandD only

(4) A B C DandE only

Jet e (1962) A Tomaam | gféror famaam i g e sii =g === fan 6 =g -
(A)  T5E ToHifas hieal &1 e e fmr = 2m
(B) =i il % ferw sirendl 1 T 2 2

(C) = =i s=En Zm

(D) 7 wmselt o ferg S |

(E)  wfeh =amm wHhiasr S T9W 0|

frat fon o forpedi & @ ol ST 1 e Hifa
(1) Faa AR B

(2) FmaBsmC

(3) #aa C #HD

(4) FAA.B.C.D3RE

1[Option ID=21985]
2[Option ID=21986]
3[Option ID=21987]
4[Option ID=21988]

Sl. No.98
QBID:111048

1971 Indo-Soviet treaty encompassed :-

(A) Indo-Soviet Treaty of Peace

(B) Indo-Soviet Treaty of Friendship

(C) Indo-Soviet Treaty of Cooperation

(D) Indo-Soviet Treaty of Peace and Friendship

(E) Indo-Soviet Treaty of Peace, Friendship and Cooperation

Choose the correct answer from the options given below :

(1) A BandD only

(2) A BandC only

(3) Eonly

(4) B.C.DandE only




9 1971 % WHA-HitaEa g9E § FHetetian afefm o -

(A)  wra-wifagy it Fwsta

(B)  wwa-Hifa & sqsa

(C)  wra-gifaga geam gagtar

(D)  wwA-afEa s o 45 et

(B)  wra-wifaga wifa, &= «iw g=am ausian
=1 feu o foeredi § | 9 390 = =9 Hifan
(1) %= A, B#rD

(2) #FEaA BaRC

(3) #FAE

(4) ¥Fa B, C,D#RE

1[Option ID=21989]
2[Option ID=21990]
3[Option ID=21991]
4[Option ID=21992]

Sl. No.99
QBID:111049

Which all are the Terrorist Groups?

(&)
(B)
©)
(D)
(E)

ISIS

Al Quaeda

Taliban

Let

MAOM (Mujahir-Quami-Movement)

Choose the correct answer from the options given below :

(1) A B,CandD only

(2) B, CandD only

(3) D, Eonly
(4) AandEonly
forafafas & @ = s T 87
(A) T vE AE A
(B) E-FEE
(C) wferam
D) wWid
(B) w9 W (qeiet-hii-aAisre)

ot feu o fempedi & | @ 390 @1 =94 Hifaw




1) 3@ A B C#rD
(2) Fa@ B, CHRD
(3) ¥ D.E

(4) FFAAFRE

1[Option ID=21993]
2[Option ID=21994]
3[Option ID=21995]
4[Option ID=21996]

Sl. No.100
QBID:111050

‘The Rise of the Rest’ was compiled by :-

(A) Fareed Zakaria

(B) Fareed Zakaria and Michael Tanchum
() Seas S Costigan

(D) Bonis Volkhonsky

(E) Gordon C. Chang

Choose the correct answer from the options given below :-

(1) Aonly
(2) Band C only

(3) CandDonly

(4) D and Eonly

T e o1 7 v W wEed e e

(A) g FefE

(B)  {ig i si Hrgshet Eow

() Taam wm ===

(D) =i Freskarh

(E) 7 &t =i

forel R o forepet © @ el IW 1 weA Hifs :
(1) ae A

(2) FEBC

(3) HFFACHLD

(a) FEDIHE

1[Option ID=21997]
2[Option ID=21998]
3[Option ID=21999]
4[Option ID=22000]

Sl. No.101
QBID:111051




Paris Peace Treaty with Italy was in the year :-

(A) 1945
(B) 1946
(C) 1947
(D) 1948
(E) 1949

Choose the correct answer from the options given below :
(1) Aonly

(2) B only

(3) Conly

(4) D only

seeit % @ ufte Wi wwsian R T6 gant

(A) 1945

(B) 1946

(C) 1947

(D) 1948

(E) 1949
1 feu o famnedi 6 & o 39 = =99 hifta
(1) FFa A

(2) F== B
3) Haa O

(4) === D

1[Option ID=22001]
2[Option ID=22002]
3[Option ID=22003]
4[Option ID=22004]

Sl. No.102
QBID:111052

Millenium Development Goals fall under
(A) Geo-strategic Development

(B) Geo-cultural Development

(C) Geo-political Development

(D)  Geo-economic Development

({E) Sustainability Development
Choose the correct answer from the options given below :

(1) A B Conly
(2)




B, C, D only
(3) Eonly
(4) E,D,Conly

wraT= fwm am effam d @ s A 87
(A)  q-Tortfas famm

(B)  y-wepice o

©  v-Teifrs e

(D) -7+ fawm

(E) wa T=wm

=i feu T faereai | 9 39 @1 =94 Sifa
(1) Faa A, B3R C

(2) #FFa B, CarD

(3) #aa E

(4) #aaE, D#RC

1[Option ID=22005]
2[Option ID=22006]
3[Option ID=22007]
4[Option ID=22008]

Sl. No.103
QBID:111053

Who opined, “The roots of wealth is economic activity”?
(A) Valmiki

(B) Ramanujam

() Kautilya

(D) Renowd E

(E) Jon Turney

Choose the most appropriate answer from the options given below :

(1)  Conly
(2) Aonly
(3) Bonly

(4) CandD only




ot w1, “u9 1 aaR st wfafafy 2107

(A)  aHi
(B) g™
(C) =itea
(D) Thsd
(B) S

= feu 7o fahedl % ® H99 399 I 1 99 iU

1) F=cC
(2) Faa A
(3) %A@ B
4) Faa O 3D

1[Option ID=22009]
2[Option ID=22010]
3[Option ID=22011]
4[Option ID=22012]

Sl. No.104
QBID:111054

The book ‘Plundered Skulls and Stolen Spirits’ is regarding :-

(A) Hand over skeletons to Tribes

(B) Hand over sacred objects to Tribes
() Hand over documents to Tribes
(D) Hand over information to Tribes

(E) Hand over places of worship to Tribes

Choose the most appropriate answer from the options given below :
(1) A, C, D only
(2) C,B,Eonly
(3) AandB only

(4) A E. Bonly
wigE Thed Us EioH e frad gaftm 27

(A) ST & FEH |
(B)  weenfoi =1 dfes awqy die
(C) s =i ZEaEs
(D)  SAsIfoE  HEAT HiE
(B)  Sefoai =i qar-wet S

o=t fou Mo el ® © TE IUG I #1 =9 i




1) FmaA CcsmD

(2) F=aC, B#HRE
(3) #aAA FLHB

(4) FaaA ERB

1[Option ID=22013]
2[Option ID=22014]
3[Option ID=22015]
4[Option ID=22016]

Sl. No.105
QBID:111055

Which nation opined their ‘oil’ is a stupendous source of strategic collaboration with Saudi

Arabia?

(A) USA
(B) USSR
¢y UK
(D) Japan
(E) Korea

Choose the most appropriate answer from the options given below :
(1) Aonly
(2) Aand B only

(3) A, BandC only

(4) B.D.Eonly

a2 % Fw1 fF 99 T4 oS F A1y TWiE 9Eam 1 969 |6 et
(A)  T® T iR

(B) 3Fuwuman

) 3+
Dy A
(E)  =ifem

o fou o faedt & & 9o 3ug 30 @1 = Fifsu
(1) == A
(2) FEAA B

(3) HaAA, B3C

(4) FF@B. D3RE

1[Option ID=22017]
2[Option ID=22018]
3[Option ID=22019]
4[Option ID=22020]




Sl. No.106
QBID:111056

“A war, whether Civil or International must be actual” refers to

(A) There must be actual fighting

(B) There must be deployment of Armed Forces
() There must be violent physical attacks

(D) There should be economic sanctions

(E) There must he blockades

Choose the most appropriate answer from the options given below :

(1) AandB only

(2) Cand D only
(3) EandDonly

(4) A BCD, Eonly

g = fafae & 1 s, 3§ awafas & & 91 97 Fua e o @ w27
(A) 79 awafa® gg & B =ita

(B) 399 TvE =l i 9w g4 =i

(C) o o sl weeaw 291 =nfee

(D) 3o st wfaeEs &9 =il

(B) 398 w90y g =ifey

e fow o faseat # @ T I37gE I W T fifaw
(1) F9a A 3B

(2) FaaC WD

(3) F=AE D

(4) #99A. B, C, D, E

1[Option ID=22021]
2[Option ID=22022]
3[Option ID=22023]
4[Option ID=22024]

Sl. No.107
QBID:111057

‘War', as Napoleon said, includes :-

(A) A grave, regular and on-going features of human history
(B) Shapes life of evervone

(C) Use of weapons and physical force

[11)] Usze of cunningness

(E) Use of sympathy

Choose the most appropriate answer from the options given below :

(1) B, CandD only




(2)

A, B and C only

(3) C,DandE only

(4)

A, D and E only

TifEE % FOATER, g 5 Hae -

(A)
(B)
(€
(D)

(E)

HE 3ioEE I UF WaEE, Hed s geid A ael 9o 2l
Wedd AT % Aiad i A9 Fa 2

AR ol wdife 7@ &1 W

CaalEal e

eyl - v

= fau o ot & & 9% 39 IR w1 =9 Fifew

(1) F=a B, C 3D

(2) F=EaA, B C
(3) #Faa C, DR E

(4) FIaA.D #RE

1[Option ID=22025]
2[Option ID=22026]
3[Option ID=22027]
4[Option ID=22028]

Sl. No.108
QBID:111058

“Jus in Bello” version of proportionality implies :-

(A)
(B)
(&)
(D)
(E)

Soldiers deploy proportionate force against legitimate targets
About tactics within the war

The rule commands

Chemical weapons can be used

Nuclear weapons can be used

Choose the most appropriate answer from the options given below :

(1)

(2)

(3)

(4)

A and B only

A, B and C only

B, C and D only

C, D and E only




THEITF T T AGH WA

(A) &= 39 T F gEEe THIE a9 1 9@ w1 E
(B) I3 % s gE

() Trm swm

(D) T wfEn w5 = a2

(B)  fiemr sfoard =1 wdrm fen o @ 2

= fou 7o fashedl % © 799 U9 I = =9 it
(1) ¥aa A 3RB
(2) FFAA BIRC

(3) Fa= B, CsRD
(4) #a@C, DIRE

1[Option ID=22029]
2[Option ID=22030]
3[Option ID=22031]
4[Option ID=22032]

Sl. No.109
QBID:111059

Emerging military technologies (cyvber war) indicates

(A) A new form of warfare

(B) A new form of swarm warfare

(8] A new form of remote-control warfare
(DY A new form of algorithm warfare

(E) A new form of electronic warfare

Choose the most appropriate answer from the options given below :
(1) Eonly
(2) A B, Conly
3) B, C Donly

(4) C,D, Eonly
ferrmasfier f= saifiehl (arser an) Frafafiaa 4 8 ferht o ooa = 27

(A) 5 B UH T 'Y

(B) =€ e | afF=i % gg # AW w9
(C) 7= Form & T 99 amen 32 #1 &9
(D)  TEAER GG N UE T w9

(E)  SoI2ite qg &1 UF 91 ®9

ot o e, el & & wod 3w 3T B = T

1) F=a B




(2) #Haa A, Ba#ERC

(3) F@a B, C#HRD

(4) FzmC, DN E

1[Option ID=22033]
2[Option ID=22034]
3[Option ID=22035]
4[Option ID=22036]

Sl. No.110
QBID:111060

Economic incentives incolve use of :-

(A) Use of money

(B) Use of ‘Stick” and ‘Carrot’

(C) Gain leverage over the other country
(D) Imposition of tarrifs

(E) Imposition of economic sanctions

Choose the most appropriate answer from the options given below :
(1) A B C,D, Eonly
(2) A B, Conly
(3) B, C Donly
(4) C,D, Eonly
e WicaTE &1 W& 2 -
(A = TEm
(B) E8 3R ‘TN & WA
(C) &1 39 % S B Scdter
(D) = IE S A
(B)  onfd= wfoadi =1 w=m

= T 7o fashel % ® A9 399 I F 99 iU
(1) #a9 A B, C,D3RE

(2) Fad A, B s C

(3) #F@@ B, CHD

(4) FFAC, DIME

1[Option ID=22037]
2[Option ID=22038]
3[Option ID=22039]
4[Option ID=22040]

Sl. No.111
QBID:111061




Greatest strength of the western powers in Cold War are :-

(A) Technological Might
(B) Scientific Superiority
(C)  Anti-Immigrant Policy
(D) Kinetic War tactics

(E) Liberal Peace

Choose the most appropriate answer from the options given below :
(1) A B, COnly

(2) B, C, D Only
(3) AandB Only

(4) D E, A Only

fia ag & ofe=et it i st aea o
(A) iR e
(B) it dman

(0)  wAvams B Fif
(D) ik gg ZEa
(B) =W i

o fau o famredi # 9 TeRl IugT I @ =9 HifA
(1) Faa A, BawC

(2) F@@B,C 3D

(3) Ha@ AR B

(4) #F=aD, EsimA

1[Option ID=22041]
2[Option ID=22042]
3[Option ID=22043]
4[Option ID=22044]

Sl. No.112
QBID:111062

World Trade Organization is viewed as :-

(A) Governing global — trade negotiations

(B) Members mutually agree to reduetion in trade barriers
(C) Permits members to negotiate

(D) A distinctive economic block

(E) A global economic warfare block

Choose the most appropriate answer from the options given below:

(1) AandB Only

(2) CandD Only




(3) BandD Only

(4) A,B. C.DOnly

fava =R gea i fre =9 § 2@ S 27

(A) e Sfvee SR FEgE

(B) =9I st # gesy vt ggafd wEd @
(C)  waEt Ft A F H oo 2

(D) = fafie sl =t

(B) U dfvasw i 33 =i+

= fou o faehedi # @ go@ 39y I 1 w=A Hif
(1) %aw A s B
2 had C 3D

(3) FABHLD

(4) FaAA B, C3D

1[Option ID=22045]
2[Option ID=22046]
3[Option ID=22047]
4[Option ID=22048]

Sl. No.113
QBID:111063

Private Military Companies (PMC) involves the following :

(A) Mercenaries

(B) War for personal wages

() No moral/political/national course
(D) Terrorism

(E) Insurgency

Choose the most appropriate answer from the options given below :

(1) A, B, C, Only
(2) C,D, EOnly
3) A D EOnly

(4) A C,DOnly




e Tt skt (f wm o) 4 Fefafas e 9

(A)
(B)
(€
(D)

(E)

eI

Fafwrs oma + fo g 7 @54 9@
FE A el odE fm = A '
HATAFATE

e

ot feu o foshedl & & wod 3ugw I =1 59 Hifsw

(1)

(2)

(3)

(4)

Faa A BarC
FAC,D dARE
Haa A, D3R B

Haa A, C 3D

1[Option ID=22049]
2[Option ID=22050]
3[Option ID=22051]
4[Option ID=22052]

Sl. No.114
QBID:111064

‘Rogue Regimes' are characterised by :-

(A)
(B)
(€
(D)
(E)

Out law nations

Irresponsible and unpredictable
Trouble Makers

Creators of Instability

Harbour rogue agents

Choose the most appropriate answer from the options given below :

(1)

(2)

(3)

(4)

A, B and C Only

B, C and D Only

A, B, C,D Only

E Only




TR STE-STaT =ht #7 foemear 27

A)  fafeefesra Ty

(B)  -fgr 3R swenfim
(C)  Gehe 3099 i ot

D) e 99 wE 9
(E) 38 T dH A

= fou e kel & © gt 3ugwh I &1 wEA FIf

(1) FaF A BamC

2 g B, C 3D

(3) #Ham A, B, C#RD

(4) FE=E

1[Option ID=22053]
2[Option ID=22054]
3[Option ID=22055]
4[Option ID=22056]

Sl. No.115
QBID:111065

‘Failed State’ refers to

(A) No efficiency in governance

(B) Cosmopoliton extreme of opinion
(C) Conduct aggressive form of torture
(D) Refuses to participate in war

(E) Fails to pay wages to its Armed Personnel

Choose the most appropriate answer from the options given below :
(1) Aonly
(2) AandB Only

(3) CandDOnly

(4) D and E only




Tawer U=y’ =1 &1 AW 27

(A)  TTEE § WEEEE T E

(B) Toam § wrafiss fagastm g
()  3efisd F A ERme &9 51 8H

(D)  Ig ¥ 90 T T TRE FET

(B) &9 il 1 J69 24 | 541 HE

= fau o fasedl % & wed 399 I = 99 it

(1) == A
(2) Faa A
(3) Fa@CWD
(4) FEEC D

1[Option ID=22057]
2[Option ID=22058]
3[Option ID=22059]
4[Option ID=22060]

Sl. No.116
QBID:111066

Match List I with List IT :

List I
(A) Brahmos
(B) Patriot
(C) Stringer
(D Gauri

List IT
(I USsA
(IT) India
(IIT) Pakistan
(IV) USA

Choose the correct answer from the options given below :

(1) (A)-1). (B)-(D, (C)-(AV), (D)-(I1T)
(2) (A)-(D), (B)-(I), (C)-(D). (D)-(IV)
(3) (A)-(IID), (B)-(I), (C)-(IT), (D)-(AV)

(4) (A)-(IV), (B)-(ID), (C)-(11L), (D)-()

gt 1 % @mg 5=t 11 < fgem Sifsm)
T
(A) waEE
(B) dfzste
(€) fe==
(D) i
1 feu o famnedi 6 | 9 390 = =999 hiftau

(1) (A)-(1), (B)-(1), (C)-(IV), (D)-(IIT)
(2)

=11
O FwEY
(ITy wFa
(ITT) rfereem
(IV) 3@ ¢




(A)-(I0), {B)-(111), (C)-(0). (D)-(IV)
(3) (A)-(IID, (B)-(D), (C)-(ID), (D)-(IV)

(4) (A)-(IV), (B)-(II), (C)-(111), (D)-(D)

1[Option ID=22061]
2[Option ID=22062]
3[Option ID=22063]
4[Option ID=22064]

Sl. No.117
QBID:111067

Match List I with List IT :

List I List IT
(&) CISF (I 2008
(B) NIA (IT)y 1969
(C) BSF (I 1991
(DY RAF (IV) 1965

Choose the correct answer from the options given below:
(1) (A)-(10), (B)-(I), (C)-(IV), (D)-(ITD)
(2) (A)-(D), (B)-(III), (C)-(IV), (D)-(D)
(3) (A)-(D), (B)-(ID), (C)-(IV), (D)-(I1D)

(4) (A)-(IID), B)-(D), (C)-(IT), (D)-(IV)

Tt 1% |y gt 11 1 faem it
-1 1T
(A) s\ () 2008
(B) mamy (I) 1969
(C) =ftwgus (III) 1991
(D) AN TTE (IV) 1965
for= foo o faeeal 6§ o 39t =1 =999 Fifsw

(1) (A)-D, (B)-(D). (C)-(IV), (D)-(I1D)
(2) (A)-ID, (B)-(II), (C)-IV), (D)-(D)
(3) (A)-(I), (B)-(ID), (C)-(IV). (D)(IIL)
(4) (A)-(IID, B)-(D), (O)-(ID), (D)-(IV)

1[Option ID=22065]
2[Option ID=22066]
3[Option ID=22067]
4[Option ID=22068]

Sl. No.118
QBID:111068




Match List T with Last IT :

(A)
(B)
(©)
(D)

List I

Rashtriyva Raksha Vishwavidyala

Indian Naval Academy
Indian Police Academy
Indian Military Academy

List IT
()  Azhimula
(ITy Ahmedabad
(IIT) Dehradun
(IV) Hyderabad

Choose the correct answer from the options given below :

(1) (A)-D), (B)-(D). (C)-(IV). (D)-(I1T)

(2)

(3) (A)-(IV), (B)-(I1I), (C)-(11), (D)-(T)

(4)

(A)-(1), (B)-IT), (C)-(I1D), (D)-(IV)

(A)-(ID), (B)-(AV), (C)-(I1I), (D)-(I)

Tt [ % Trg =t 11 %1 e Hifsu)

(A)
(B)
(©)
(D)

o fow e foredl ® & B I W = it
(1) (A)-ID), (B)-(I), (C)-(IV), (D)-(I1T)
(2)  (A)-(T), (B)-(II), (C)-(IIT), (D)-(IV)
(3)  (A)-(IV), (B)-(I11), (C)-(IT), (D)-(I)

(4) (A)-(IT), (B)-(IV), (C)-(I11), (D)-(T)

1
i e favafme
AR AT ST
et g s
WA & srhTEH!

1[Option ID=22069]
2[Option ID=22070]
3[Option ID=22071]
4[Option ID=22072]

-1
() sTfren
(Il) sTEweTETg
(I11) Z&mg
(IV) &zt

Sl. No.119
QBID:111069

Match List I with List IT :

(A)
(B)
(C)
(D)

List I
Malabar
Slinex
Varuna

Simbex

List 11
(' India — Sri Lanka
(IT} India — Japan — USA
(IIT) Singapore — India
(IV) India — France

Choose the correct answer from the options given below :

(1) (A)-(D. (B)-(D, (C)-(I1I), (D)-AV)




(2)  (A)-(11), (B)-(1), (C)-(IV), (D)~(IIT)
(3)  (A)-(I). (B)-(ID), (C)-(IIT), (D)-(IV)
(4) (A)-(I0), (B)-(IV), (O)-(ITT), (D)-()

Tt 1% | gt 11 o faem Fifsm)
-1

(A) TEER
(B) feeaa
(Cy ==m

(D) Tomeeg

ot feu 7 Temredi ® |6 @ 39 1 =44 Hifau
(1) (A)-(II), (B)-(T), (C)-(I1T), (I-(IV)
(2) (A)-(II), (B)-(I), (C)-(IV). (D)-(III)
(3)  (A)-(I), (B)-(II), (C)-(I1I), (D)-(IV)

(4) (A)-(ID. (B)-(IV), (C)-(II), (D)-(T)

1[Option ID=22073]
2[Option ID=22074]
3[Option ID=22075]
4[Option ID=22076]

g1
() wra-Hie
(I) WHq-<TH-7 UH ¢
(ITT) f&me-sma

(IV) \a-%

Sl. No.120
QBID:111070

Match List T with List IT :

List I
(A) General Zia—Ur—Rahman
(B) General Ayub Khan
(C) Bismark
(In  Garibaldi Mussolini

Last IT
(I Pakistan

(II) Germany
(IITy Bangaladesh

(IV) ltaly

Choose the correct answer from the options given below :

(1) (A)-aD). (B)-(I). (C)-(D, (D)-(AV)

(2) (A)-(V), (B)-(IID), (C)-(I), (D)-(ID)

(3)  (A)-IID), (B)-(I). (C)-(I1), (D)-(IV)
(4) (M-I, (B)-(IV), (C)-(1), (D)~(I1)




Tt 1 % 5rg =t 11 %1 e Fifsm)

i1 -1
(A) wE fm-s-temm (1)  rieRET=
(B) e 3@ @H (I) =t
(C) formmh (IIT) wiremaan
(D) e gatfert (IV) seeft
ot fau e faeped 3 @ wdl 390 1 =@ Hif

(1) A)-(1), (B)-(II), (C)-(1), (D)-(IV)
(2)  (A)-(V), (B)-(LI), (C)-(I), (D)-(1D)
(3)  (A)-(IID, (B)-(D), (C)-(1D), (D)-(IV)

(4) (A)-(IID), (B)-(IV), (C)-(I), (D)-(ID)

1[Option ID=22077]
2[Option ID=22078]
3[Option ID=22079]
4[Option ID=22080]

Sl. No.121
QBID:111071

Match List I with List IT :

List I Last 11
(A) Redcliff Line (' India — China
(B) Line of Actual Control (ITy India — Pakistan
(Cy Gulf of Gibralter (III) India — SriLanka
(Dy  Palk Strait (TV) Spain — Morroco

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I1D), (C)-(I1), (D)-(T)
(2)  (A)-D). (B)-(I). (C)-(IV), (D)-(11T)

(3)  (A)-(ID), (B)-(ID), (C)-(I), (D)-(IV)
(4)  (A)-(1D), (B)-(TV), (O)-(IL), (D)-(I)




gt 1% arer gt 11 1 e fifsu)

-1
(A) A @
(B) arsdfass e @
(©) Tomex %t TwEl
(D) 9 &2

e fau o fawedt 4 @ 92 3T % = fifsw

(1) (A)-(IV), (B)-(I1D), (C)-(11), (D)-(I)

(2) (AL, (B)-(I). (C)-(IV), (D)-(I1D)

(3 ()-(1D, (B)-A1D. (O)-(), (D)-AV)
(4)  (A)-ID, (B)-(1V). (C)-(ID), (D)-(T)

1[Option ID=22081]
2[Option ID=22082]
3[Option ID=22083]
4[Option ID=22084]

g-11
() HRa-dH

(1) 9rEd-urferEd™
(IT1) Ya-sieient
(IV) TH-HE

Sl. No.122
QBID:111072

Match List T with List IT :

List I
(A) Ganga (Il India
(B) Indus (II) Tibet
(C) Mekong (IIT) India
(In Narmada (IV) Tibet

Choose the correct answer from the options given below :
1) (A)-IV), (B)-(I11), (C)-(1), (D)-(11)

(2) (A)-(II), (B)-(I). (C)-(IV), (D)-(IT)

3)  W)-(D). (B)-D), (C)-(IV), (D)-(I1D)

(4) (A)-(IV), (B)-(I11), (C)-(1D), (D)-(D)

List IT




Tt 1 % Trg gt 11 %1 fem Fifsw)

-1 =11
(&) T () wmE
B) fag (I) foream
(C) #=m (IIT) e
(D) 7z (IV) foemm
et faw e foredt & & wlt s 1 = Hife -

(1) (A)-(IV), (B)-(IID). (C)-(I), (D)-(1T)
(2) (A)-aID, (B)-(D), (C)-(IV), (D)-(ID)
(3) (A)-(D). (B)-(ID). (C)-(IV), (D)-(I1D)
(4)  (A)-(IV), (B)-(I1D), (C)-(ID), (D)-(D)

1[Option ID=22085]
2[Option ID=22086]
3[Option ID=22087]
4[Option ID=22088]

Sl. No.123
QBID:111073

Match List I with List IT :

List I List IT
(A) Regional Centre for Strategic Studies ) Sweden

(B) Stockholm International Peace Research (II) Sri Lanka
Institute

(C) International Institute of Strategic (III) India
Studies

(D) Manchar Parikar Institute of Defence (IV) Britain
Studies and Analysis

Choose the correct answer from the options given below :
(1)  (A)-(IV), (B)-(III), (C)-(IT}, (D)-(1)
(2) (A)-(IL), (B)-(IV), (C)-(I), (D)-(ILI)

(3) (A)-(IID, (B)-(IV), (C)-(11), (D)-(T)
(4) (A-ID. B)-, (C)-(IV), (D)-(11D)

Tt 1% =g gt 11 = faem Sifa)

-1 111
(A)  froae I3 v wifas =8 @ wiA
(B) w=iwem seTHe 1 fmd ==iege (I) e

(C) oA $=Igae ATh wefas wedi (III) wrd
(D) e ofE ey o fevm wdm ve (IV) foem
el

=1 fEu o famei § | 9 39 = =99 Fita




(1) (A)-aV), (B)-(IID), (O)-(AD), (D)-(D
(2) (A)-(ID), (B)-(IV), (C)-(I), (D)-(ILT)
(3) (A)-(IID), (B)-(IV), (C)-(I1), (D)-(D)
(4) (A)-(I), (B)-(1), (C)-(IV), (D)-(I1D)

1[Option ID=22089]
2[Option ID=22090]
3[Option ID=22091]
4[Option ID=22092]

Sl. No.124
QBID:111074

Match List I with List II :

List I List IT
(A) Apache (I)'  Russia
(B) MI-17-V-5 (II) USA
(C) Augusta (ITIy China
(D AZ-10 (IV) Sweden

Choose the correct answer from the options given below :
(1)  (A)-(1D, (B)-(I1), (C)-(T). (D)-(IV)

(2) (A0, (B)-(II), (C)-(1), (D)-(IV)

(3) (A1), (B)-(I), (C)-(IV), (D)-(I1T)

(4) (A)-(IV), (B)-(I1D), (C)-(1I), (D)-(D)

Tt 1% @y gt 11 & faem Fifa)
-1 -1
(A) s M =4
(B) W #§-17-V-5 (I) FuET
(C) = (I ==
(D) TIE-10 (1) =it
1 U o faesedl § & @E 39 = =999 Shitau

(1) Q-(ID, (B)-ID). (C)-(D. (D)-AV)
(2)  W-ID), (B)-(UI), (C)-(D). (D)-AV)
(3) (AL, (B)-(D. (C)-(IV), (D)-(I1D)
(4)  (A)-(IV), (B)-(ILI), (C)-(1L), (-()

1[Option ID=22093]
2[Option ID=22094]
3[Option ID=22095]
4[Option ID=22096]

Sl. No.125
QBID:111075




Match List T with List IT :

List I
(A)  Arjun ()  German
(B) Panzer (IT}y India
(Cy Patton (IIT) Russia
(D) T-72 (IV) USA

Choose the correct answer from the options given below :

(1)  (A)-(ID, (B)-(IV), (O)-(D), (D)-(ID
(2) (A)-(ID. (B)-(1D), (C)-(), (D)-aAV)
(3) (A)-(ID), (B)-(D). (C)-(IV), (D)-(I11)

(4) (A)-(I1D, (B)-(D), (C)-(ID), (D)-(IV)

T 1% Trg gt 11 %1 fiem Hifsu)

-1
(A) A M s
(B) = (1) wra
(C) %= (1) =5
D) &-12 (IV) 3@ T
ot fou T Teaereat ® | @ 39 = =44 HFifan

(1) A1), (B)-(IV), (CAD), (D)-(1D)

(2) (A)-(ID), (B)-(II), (C)-(D, (D)-(AV)
(3) (A)-D). (B)-(D). (C)-(IV). (D)-(I1T)
(4)  (A)-(11), (B)-(I), (C)-(ID), (D)-(IV)

1[Option ID=22097]
2[Option ID=22098]
3[Option ID=22099]
4[Option ID=22100]

List IT

=11

Sl. No.126
QBID:111076

List the following operations chronologically :
(A) Sino—India War

(B) Annexation of Goa

(C) Integration of Dadra and Nagar Haveli
(D) Bangladesh liberation war

(E) Kargil war

Choose the correct answer from the options given below :

(1) C,B,A.D,and E




(2) A BC DandE
(3) C.D,B.Aand E
4) ACEBandD
Frafafiaa s %1 Fewagan =Etem fia
(A) HF-wrE g3
(B) T faem
(C) == T T gEelt *1 whE
(D) aFEEY A 45
(E) #nfe gg

At feu 7o feeredl § 9 @ I 1 =94 it

(1) C B ADSRE
(2) ABCD3mE
(3) C.D.BA#RE
(4) A.C.E.B3mD
1[Option ID=22101]
2[Option ID=22102]

3[Option ID=22103]
4[Option ID=22104]

Sl. No.127
QBID:111077

Sequence the following events of Israel-Palistine Conflict in chronological order :-

(A) Oslo Accord

(B) Six day War

() First Intifada

(DY Camp David Accord between Egypt and Israel
(E)  Yon Kippur war

Choose the correct answer from the options given below :
(1) C B ED and A

(2) B ED CandA
3) C.E,B. A andD

(4) AB,C.D,andE




e o god i fr=fafaa gzmeit #1 Feswagar =Efem fifs

(A) e =g
B) =fEdE g
(© e
(D) Fra i e & o9 3 s afy
(B) =w B 32
Frer fEu T faepeal § | wE I H =9 I

(1) ¢, B.E, DA
(2) B.ED, CsimA
(3) C,E. B AZRD

(4) A B C.D#HERE

1[Option ID=22105]
2[Option ID=22106]
3[Option ID=22107]
4[Option ID=22108]

Sl. No.128
QBID:111078

Arrange the following International organisations on the basis of their establishment :-

(A) International Finance Corporation

(B) UNCTAD
(Cy WTO

(D) IMF

(E) OECD

Choose the correct answer from the options given below :

(1) DABCE

(2) DAECEBE

(3) A/C.,D, B E

(4) DDAE B C

Traferfian s=di TEAl FT 39 T % ATER T FORATER SaEteda i
(A) e fE sneeE

(B) %=

(C) w=gd@ta

(D) FETHTE

() =t S

=t feu 7o faseat @ 9 @ 39 w1 =44 S

(1) DABCE




(2) DAECB
(3) ACD.BE

4 DAERBC

1[Option ID=22109]
2[Option ID=22110]
3[Option ID=22111]
4[Option ID=22112]

Sl. No.129
QBID:111079

Rank the countries in descending order on the basis of active nuclear warheads in 2021 as
per SIPRI report.

(A)  USA
(B) Russia
(C) France
(D) UK

(E) China

Choose the correct answer from the options given below :
(1) ABE CandD
(2 BAECandD
3) AAB.C.Dand E
(4) BAE DandC
et foiid % s BRI A AT B 2 A s e § e B

(A) =g T S

(B) wH

(0) wig

(D) 7ATEcs fHrew

(Ey =m

Hr= fou o el ® 9 9 39 = =ae i

(1) A B E CsmD
(2) B AECsRD

(3) ABCD#ERE
(4) B,AE DR

1[Option ID=22113]
2[Option ID=22114]
3[Option ID=22115]
4[Option ID=22116]

Sl. No.130
QBID:111080




In Chanakya Model, sequence for ‘March to war’ 1s as under :-

(A) Choice of Routes
(B) Order of March
(C) March Array
(D) Rate of March

(E) Obstacles and Protection

Choose the correct answer from the options given below :
(1) EA DB C
2) DEACTBE
(3) AB,C.D.E

@ EDABC

I Wi # g i AR wer FEEn
(A)  #mi w fEe

(B)  #AT 5ed FI %A

(0) =uafead 9 & #AF "9gd

(D) =T 52 FIFA

(E) =49 #HK =a=e

Hra feu mu fomreai o & g 3w w1 =99 Hifaw
(1) EADBsErC

(2) D.E A CsB

(3) ABCDSRE

(4) E.D,A BsinC

1[Option ID=22117]
2[Option ID=22118]
3[Option ID=22119]
4[Option ID=22120]

Sl. No.131
QBID:111081

Arrange the following movements of Mahatma Gandhi in chronological order :-
(A) Khilafat

(B) Champaran

(C) Non—Cooperation

(D) Kheda

(E) Dandi March

Choose the correct answer from the options given below :

(1) BD AC,andE




(2 ¢ D BEandA
(3) AB,C.Dand E

(4) D.,BA Cand E

FICAHHA & | HgTedl Mol & Ffafias sEed # #wHag il

(A T

(B) =9

(C) s

D) @9

() =Eiad

Hrr fEu U faeeai ® A TE IO 9T i

(1) BD, A C#HRE
(2) C,D.B EsRA

(3) A BC.D#FRE
(4) D BACHRE

1[Option ID=22121]
2[Option ID=22122]
3[Option ID=22123]
4[Option ID=22124]

Sl. No.132
QBID:111082

List the international Court/Tribunal according to the vear of their establishment :-

(A) Permanent Court of Arbitration

(B) International Criminal Court (ICC)
() International Court of Arbitration
(D) International Court of Justice (IC.J)

(E) International Criminal Tribunal for the Former Yugoslovia

Choose the correct answer from the options given below :
(1) AB,C.Dand E
(2) A C.D,EandB

(3) B.C.E.DandA
(4) B.C,D, Eand A




TG AT AT F FAT 99§ AR 3% gy FIa
(A) T AT S

(B)  savHe GRiae %2 (o8 i i)

(C) P ARl e

(D) T = (I i )

(B)  s=tive frftea grasgaer wi B ek geireetamn
= feu wu Tsreai W | @ 39 = =44 fifd

(1) ABCD3RE

(2) A CD EzRB

(3) B, C.E Ds3ftA
(4) B C, D E#HRA

1[Option ID=22125]
2[Option ID=22126]
3[Option ID=22127]
4[Option ID=22128]

Sl. No.133
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Order the following European rivers from west to east.

(A) Driepu
(B) Volga
() Ehine
(D) Danuhe
(E) Don

Choose the correct answer from the options given below :
(1) C,D, A EandB
(2) ABC.DandE
(3) C,D.B,Aand E

(4) E.B.C.D andA

Freaferfiaa i afe = oo & o o A

A fg71

(B) F@m

(€ w=A

D) =

(E) =7

Hr1 feu mu fompeT @ § @ I w1 ==9 Hifa

(1)




C.D A E=iB
(2) AB,C.DsRE

(3) C.D.BASRE

(4) E.B.C.D#ETA

1[Option ID=22129]
2[Option ID=22130]
3[Option ID=22131]
4[Option ID=22132]

Sl. No.

134

QBID:111084
Arrange the UN Peace keeping operations in chronological order

(A) UNPROFOR
(B) UNMISS

(C) UNAMIR
(Dy UNAMID
(E) MONUSCO

Choose the correct answer from the options given below :

(1)

ABCDandE

(2) BC.D,Aand E

(3)

B,C.E.Dand A

(4) A,C.E.DandB

| T Wi T GG i FIATHRA €9 § FHHag FII0

(A)  F U T W S TE R

(B) 9 UA TN T UH UH

(C) 3 TUR AE

(D) ATATTHIE

() wH ol w3 um o

#r= fom o et 4§ od I 1 =Ea Fif

(1) A B CD3RE
(2) B.C,D,AsRE
(3) B.C.E.DsmA
() A CEDsRB

1[Option ID=22133]
2[Option ID=22134]
3[Option ID=22135]
4[Option ID=22136]

Sl. No.135
QBID:111085




Chanakya propounded characteristics of Good Edicts as

(A) Topical order

(B) Non—Contradiction
() Completeness

(D) Sweetness

(E) Dignity and Lucidity

Choose the correct answer from the options given below :

(1) B.C.D.E A

(2) C,D.E.AB
(3) EADBC

(@) A B.C,DE

A |4 3N e i fEeman fegen afenia i E
(A)  wiElE wH o
(B) W-wEIEH w9 A

(C) @zwEar ®9 |

(D) wgH w9 H
(E)  witamm 31 wisel &9

1 f5u v fawedl § & @E 39 = =9 hita

@ B,C,D,E3RA

(2) C,D EARB
(3) E.A D BamC

(4) A B C.D#HRE

1[Option ID=22137]
2[Option ID=22138]
3[Option ID=22139]
4[Option ID=22140]

Sl. No.136
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Given below are two statements: One is labelled as Assertion A and the other is labelled as

Reason R
Assertion (A) : Strategic, Operational and Tactial are three levels of War.
Reasons (R) : Professional Militarv Education caters for training of Indian Army leaders

at all three levels of War.
In the light of the above statements, choose the correct from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2)




Both (A) and (R) are true and (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

ﬂ%ﬁlwﬁqw%:Qﬁaﬁﬁﬁﬂf{(&%ertiunm%ﬁqﬁ%ﬁﬁ%ﬁ@ﬂaﬂ%w (Reason R) %

FGH -

FAlREA (A) gg % o =R wdia qmi, T=eHeTE i FE FeE @l

F7 (R) : =g &= e gg + adt 67 w0 = swdE 8= Jas % foe i i swm
= i w4 21

IYF I & A °, A 5 U Gl § 8 e 39 w1 999 i
(1) (A) 31 (R) 21 &=a € 31 (R). (A) =i odi ==
@ (A) 3 (R) 341 97 2, a4 (R), (A) Fi 981 =7 981 8

(3) (A) @ %, dfF (R) 597 &

@ (A) 38 2, af (R) o 2

1[Option ID=22141]
2[Option ID=22142]
3[Option ID=22143]
4[Option ID=22144]

Sl. No.137
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Given below are two statements: One is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A) : Types of troops explained by Kautilva are Maula, Bhrita, Sreni, Mitra,

Amitra and Atavi.

Heasons (R) : These tvpes of troops can ditch the king and join enemy forces if adequate

care is not taken to maintain them.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A) is false but (R) is true




ﬁﬁfiﬁﬂr{ﬁqm{%:l'.l$ﬂﬁiﬁﬂ?(ﬁesertionm%wﬁ%ﬁﬂ%ﬁ?@ﬂmw[ReasnnR)gﬁ
qul
Hfia (A) - Fifeed g1 A S=ee & THE £ - Hien, a1, w4, {5, st s s

F (R) 7 H=Ee T F A FE T T § GeAe & T & A7 34 T SAeiE 2 1@
e 78 o s 2

I He o SATel® H, A 130 T Feed § & @l S ok e Hi
(1) (A) i (R) g1 7 & &1 (R), (A) i &el =aven &

(2) (A) il (R) 31 74 &, & (R), (A) i @&l =ren 76 &

(3) (A) @ &, & (R) 316 @

(4) (A) 55 2, @ (R) 99 7

1[Option ID=22145]
2[Option ID=22146]
3[Option ID=22147]
4[Option ID=22148]

Sl. No.138
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Given below are two statements:

Statement (I) :  Kautilya defined ‘Antardhi’ as the weak king among all other friendly or

enemy kings.

Statement (II) :  ‘Ari’ is defined as an ‘Enemy King'.

In the light of the above statements, choose the most appropriate answer from the options

given below:
(1) Both Statement (I) and Statement (II) are correct

(2) Both Statement (I) and Statement (II) are incorrect

(3) Statement (I) is correct but Statement (II) is incorrect

(4) Statement (I) is incorrect but Statement (II) is correct

= = e e E

Fo (1) : Fifera 7 At #1 3= wft fm @ vy voneit § AR T & w9 #§ ufvafia
o 21

w4 (ID) ‘AT W TA % T F wfvaiea G R

IFE ®F & e °, A9 G e fawedt § ¥ ge 39w I w99 Fif
(1) F=[ () 3 (1) 3 w4 &

@ o () 3 (1) 21 e 2

(3) F4 () 1 &, =l wo (1) 7ra &

(4) %9 () 7o 2, A6 Fe (1) 6 2

1[Option ID=22149]




2[Option ID=22150]
3[Option ID=22151]
4[Option ID=22152]

Sl. No.139
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(Given below are two statements:

Statement (I) :  CDS stands for Combined Defence Services.

Statement (IT) :  CDS stands for Chief of Defence Staff.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1)  Both Statement (I) and Statement (II) are correct

(2) Both Statement (I) and Statement (II) are incorrect

(3) Statement (I) is correct but Statement (II) is incorrect

(4) Statement (I) is incorrect but Statement (II) is correct

fRgFmfumE:
F47 (1) =t € vm = i =9 ® — Fen-s fehw afEE
F47 (1) : =t £t vw % Tl 59 2 — % a1 T i

I FY % el |, Fo Zu T fGwed § 4 Tad I I H =99 hiia
(1) e () i (1) 3 56 2

(2) = (1) @i (1) 21 e €

(3) o (1) 7 &, oA Fo (I1) 7o &

(4) FA () 7em &, Al w1 (1) a8 2

1[Option ID=22153]
2[Option ID=22154]
3[Option ID=22155]
4[Option ID=22156]

Sl. No.140
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Given below are two statements:
Statement (1) : Xi Jinping 1s life time President of China.
Statement (IT) :  Xi Jinping is part time President of China.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1)  Both Statement (I) and Statement (II) are correct
(2) Both Statement (I) and Statement (II) are incorrect

(3) Statement (I) is correct but Statement (II) is incorrect

(4) Statement (1) is incorrect but Statement (II) is correct




= gt Fya fgu mo €

F1 (D) : it it = % sefam agafa €1
F44 (1D : it Sfafir i % sAvEfes ool #

I wo & A §, 49 2 T fawedt § € g suge s 99 Hifa

(1) e (1) 3R (D) =41 = &
(2) == (1) 30 (1) 3Hi Tea &
(3) FA () Tl &, = Fua (10) Terd &

(4) =9 (1) T &, otk % (1) 981 2

1[Option ID=22157]
2[Option ID=22158]
3[Option ID=22159]
4[Option ID=22160]

Sl. No.141
QBID:111091

Read the following paragraph and answer the five questions that follow :

Chinese Army intruded into Indian area of North Eastern part of Aksai Chin in Ladakh
that led to clashes between the soldiers of both armies. Galwan valley witnessed hand to
hand fight between the Indian and Chinese soldiers on 16 June 2020 when Chinese troops
wanted to occupy Galwan heights and other mountain ridges in the region. Gogra, Hot
springs, Depsang and adjoining heights of strategic importance were the objectives of
Chinese forces. Col Santhosh Babu (late) with his battalion defended the area bravely and
pushed back the Chinese. He laid his life but succeeded in upholding valour and honour of
India.

The clashes resulted in deterioration of relations between India and China. Major diplomatic
efforts by both sides prevented escalation of situation to a full scale war. India recaliberated
its tactical and strategic focus by building infra-structure, strengthening defences and

deploying air defence systems.

China lost large number of soldiers and suffered a humiliating defeat at international fora.
frfelian ey =1 ulev il f2e T weai = e S

=t B 3 eigra 4 s W % gl W % wndta i 0 gats Ren fed 2 ded % e
e wed &) 16 34, 2020 F Faf® Ff d=ge TeEE f GifE T I G F = - A w5
A e o, e G A wndE s i A % ot aemd g8 T, g, 3 s
wiifo wee i = Sife s e o o) Fe ga s (wita) 9 s sefeem % e o ae
TEGH @ e Fi aur it 1 o wEs T sw o few Fioafa 3 & St wa & wen s e
i =G T

3 @5l 3 W i F7 % Fedi & g g gE e % vga it s @ el e e w
qg # aedE aH | T T WG J ATETE IR Fh, GO H §38 FOh 091 a1 -Ta Wil 1 WA
% 31T i U mHiE 52 7 gan

=i 3 =t g 4 wue & % @ d@ SE g W SAIHEEAS SO w1 GEET E

Which of the following is not a feature of tactial importance on the border with China?




(1) Galwan Valley

(2)  Hot Springs
(3) Gogra
(4) Chushul

= = arg dw w Fefafaa § 9 e it ara i e @ 27

(1) eI =l
(2) e
(3) 7
(4) =F49

1[Option ID=22161]
2[Option ID=22162]
3[Option ID=22163]
4[Option ID=22164]
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Read the following paragraph and answer the five questions that follow :

Chinese Army intruded into Indian area of North Eastern part of Aksai Chin in Ladakh
that led to clashes between the soldiers of both armies. Galwan valley witnessed hand to
hand fight between the Indian and Chinese soldiers on 16 June 2020 when Chinese troops
wanted to occupy Galwan heights and other mountain ridges in the region. Gogra, Hot
springs, Depsang and adjoining heights of strategic importance were the objectives of
Chinese forces. Col Santhosh Babu (late) with his battalion defended the area bravely and
pushed back the Chinese. He laid his life but succeeded in upholding valour and honour of
India.

The clashes resulted in deterioration of relations between India and China. Major diplomatic
efforts by both sides prevented escalation of situation to a full scale war. India recaliberated
its tactical and strategic focus by building infra-structure, strengthening defences and

deploying air defence systems.

China lost large number of soldiers and suffered a humiliating defeat at international fora.
frfefian menw =1 ulev i e T ww=i = S

=t &1 4 wiegra d SEETs =iH & I-qE 9w o vt fee d gats e fed gEi dmsi & dfe s
#= w5 &1 16 4, 2020 ® FafE S I=me TwER fi Sl an 3% 7 = wHa - .
A S o, e G A wndt s Sid A % ot aemd g8 T, w @, 3 s
o Heee it S =ife 3% Fee w i) FHe gam T (F=ia) 3 s s % o 3w e
Tt @ T i v <t 1 o =gy T sw s faw Fioata 3 & St w F e i e
i = T

3 7 3 WA 3 7 F Fedi = s T e e % vge it v 3 Tl o e e wm
T3 # e BH | T T WG 3 ATEE IR Fh, GO H 98 FOh 991 I -Ta Wil &1 W
Tk AT T U Wi g 7 gan

= 3 7t g 4 e & w1 @ S sEdE Ae W SIS e g

Galwan clashes led to deterioration of relations between

(1)




India and Pakistan

(2) India and Nepal

(3) India and China

(4) India and Bhutan

Tea™ A8l & HA e 519 Hay famg ?
(1) wmm it o

(2) gpg =i o=

(3) wna #n ="

(4) WRA S A

1[Option ID=22165]
2[Option ID=22166]
3[Option ID=22167]
4[Option ID=22168]
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Read the following paragraph and answer the five questions that follow :

Chinese Army intruded into Indian area of North Eastern part of Aksai Chin in Ladakh
that led to clashes between the soldiers of both armies. Galwan valley witnessed hand to
hand fight between the Indian and Chinese soldiers on 16 June 2020 when Chinese troops
wanted to occupy Galwan heights and other mountain ridges in the region. Gogra, Hot
springs, Depsang and adjoining heights of strategic importance were the objectives of
Chinese forces. Col Santhosh Babu (late) with his battalion defended the area bravely and
pushed back the Chinese. He laid his life but succeeded in upholding valour and honour of
India.

The clashes resulted in deterioration of relations between India and China. Major diplomatic
efforts by both sides prevented escalation of situation to a full scale war. India recaliberated
its tactical and strategic focus by building infra-structure, strengthening defences and

deploying air defence systems.

China lost large number of soldiers and suffered a humiliating defeat at international fora.
Frafafan = i ufey i Be o w= = I Al

=t T 3 Tegra F s A F Iw-gE 9 F wwdE e 1 guts e e ge et % 8t
9 wsd g1 16 4, 2020 F FaF A+ S=am oW fi =ifE 3% 89 F w9 Ha- A 5
g =rEm o, TeEE A9 6 wRdE o S 8 % e aamg g T, T oa, S SR
wiifos weed i s Sifen ek Fm o) FAe gam ar (wita) 9 sl serfeEa % | s g i
FETgl o T it aw it w1 i wis ) e s e Fioafa g § @l wma  wme s i
I T, T

T WS A WA 3 <\ F Fadi 1 fows T 39 ea % wpa it e 3 ol e e e ow
qg # TEE B @ U T AW F ATEEAT AR F, GO 5 598 e 991 A - qonterEt &1 5
Tk AT AW U Wi g | gar R

=t 7 =€t g 4 age & # =@ s e 0= W SEEeAS T0eE g

Which of the following is correct?

(1)




India recalibrated tactial and strategic focus

(2) China launched another offensive in Central sector in India

(3) Nepal and China had clashes because of Galwan incident

(4) China launched offensive in North Eastern sector in India

frafafaa & & = w7 w2 27

(1)  9ma 3 o 3 @wiE 5 § gan

(2) & 3 9a | FEE a3 § 0 SR SAEmE afafaty i
(3) AU i R % = Team geN F FoT we 7w

(4) =7 9T F IW-TH 49 T SAEEE VAW

1[Option ID=22169]
2[Option ID=22170]
3[Option ID=22171]
4[Option ID=22172]
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Read the following paragraph and answer the five questions that follow :

Chinese Army intruded into Indian area of North Eastern part of Aksai Chin in Ladakh
that led to clashes between the soldiers of both armies. Galwan valley witnessed hand to
hand fight between the Indian and Chinese soldiers on 16 June 2020 when Chinese troops
wanted to occupy Galwan heights and other mountain ridges in the region. Gogra, Hot
springs, Depsang and adjoining heights of strategic importance were the objectives of
Chinese forces. Col Santhosh Babu (late) with his battalion defended the area bravely and
pushed back the Chinese. He laid his life but succeeded in upholding valour and honour of
India.

The clashes resulted in deterioration of relations between India and China. Major diplomatic
efforts by both sides prevented escalation of situation to a full scale war. India recaliberated
its tactical and strategic focus by building infra-structure, strengthening defences and

deploying air defence systems.

China lost large number of soldiers and suffered a humiliating defeat at international fora.
frfefian menw =1 ulev i e T ww=i = S

=t &1 4 wiegra d SEETs =iH & I-qE 9w o vt fee d gats e fed gEi dmsi & dfe s
#= w5 &1 16 4, 2020 ® FafE S I=me TwER fi Sl an 3% 7 = wHa - .
A S o, e G A wndt s Sid A % ot aemd g8 T, w @, 3 s
o Heee it S =ife 3% Fee w i) FHe gam T (F=ia) 3 s s % o 3w e
Tt @ T i v <t 1 o =gy T sw s faw Fioata 3 & St w F e i e
i = T

3 7 3 WA 3 7 F Fedi = s T e e % vge it v 3 Tl o e e wm
T3 # e BH | T T WG 3 ATEE IR Fh, GO H 98 FOh 991 I -Ta Wil &1 W
Tk AT T U Wi g 7 gan

= 3 7t g 4 e & w1 @ S sEdE Ae W SIS e g

When did Galwan incident take place?




1
M August 2020

(2) June 2020
(3) August 2019
(4) June 2019

e e F4 g5 1
(1) =mE 2020
(2) ¥ 2020

(3) 3FTE 2019

(4) =7 2019

1[Option ID=22173]
2[Option ID=22174]
3[Option ID=22175]
4[Option ID=22176]
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QBID:111095

Read the following paragraph and answer the five questions that follow :

Chinese Army intruded into Indian area of North Eastern part of Aksai Chin in Ladakh
that led to clashes between the soldiers of both armies. Galwan valley witnessed hand to
hand fight between the Indian and Chinese soldiers on 16 June 2020 when Chinese troops
wanted to occupy Galwan heights and other mountain ridges in the region. Gogra, Hot
springs, Depsang and adjoining heights of strategic importance were the objectives of
Chinese forces. Col Santhosh Babu (late) with his battalion defended the area bravely and
pushed back the Chinese. He laid his life but succeeded in upholding valour and honour of
India.

The clashes resulted in deterioration of relations between India and China. Major diplomatic
efforts by both sides prevented escalation of situation to a full scale war. India recaliberated
its tactical and strategic focus by building infra-structure, strengthening defences and

deploying air defence systems.

China lost large number of soldiers and suffered a humiliating defeat at international fora.
Frafafan = i ufey i Be o w= = I Al

=t T 3 Tegra F s A F Iw-gE 9 F wwdE e 1 guts e e ge et % 8t
9 wsd g1 16 4, 2020 F FaF A+ S=am oW fi =ifE 3% 89 F w9 Ha- A 5
g =rEm o, TeEE A9 6 wRdE o S 8 % e aamg g T, T oa, S SR
wiifos weed i s Sifen ek Fm o) FAe gam ar (wita) 9 sl serfeEa % | s g i
FETgl o T it aw it w1 i wis ) e s e Fioafa g § @l wma  wme s i
I T, T

T WS A WA 3 <\ F Fadi 1 fows T 39 ea % wpa it e 3 ol e e e ow
qg # TEE B @ U T AW F ATEEAT AR F, GO 5 598 e 991 A - qonterEt &1 5
Tk AT AW U Wi g | gar R

=t 7 =€t g 4 age & # =@ s e 0= W SEEeAS T0eE g




India and China were recently involved in hand to hand fight at
(1) Galwan valley
(2) Depsang

(3) Tawang

(4) Kachar hills

WA #HR = 7 g # g9 i wen § f6H 9
(1) == =

(2) ==m

(3) mEm

(4) TR TEE

1[Option ID=22177]
2[Option ID=22178]
3[Option ID=22179]
4[Option ID=22180]
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Read the following paragraph and answer the five questions that follow :

China conducted its first nuclear test in 1964 and has maintained a no-first use policy. From
the early 1960s to early 1980s, China's potential was highly limited. China began fielding
gilo-based ICBMs in the 1980s and deploved nuclear force to enhance survivability by
absorbing first-strike, expand striking power and counter deplovments in Missile defence.
The transition to survivable nuclear forces such as mobile ICBMs and SSBNs are the most
notable aspect of its force modernization and is closely aligned with the nuclear strategy
developed by China.

freaferfias menw =1 afew sit 2o 1o e = I it

=9 3 39 1964 § HGET T A9 T o 3 369 TR WG 7 S i Aif 9w ol | 1960
Z9 % ANY ¥ 1980 % ZI % ANH a9 i i Ear S difFa ot == 9 1980 * g9 4 W
oE =t < (Ael aws AT =i off ) S A IE BT 99 9ER 1 Iibe & IesiiEar | agH,
TR Tifts 1 forean & o T 1an 8 S a9 % oo e wfem ) el ond ot s
™ ¥R uE W S I iE atwa § @t (afiEd) s aie g w1 oaes
IgEa TEel & it 98 <A g fawiaa Tvehim orifa @ afe w19 99 gen B

In the context of the above paragraph, ICBMs and S5BNs are

(1) Are not part of survivable nuclear forces

(2) Are part of survivable nuclear forces
(3) Are not part of modernization of Chinese nuclear forces

(4) Not closely aligned with China's nuclear strategy being developed
W TOUTE % He | S | & uw S ug vl A

(1) FersiaEt Arwehia TiRal =1 A9 T8 8
(2) o TvehE oAl &1 9§

(3) it v Wi & s %1 9 T g
(4)




Termterm i 1 T <A AR Wi F e w9 F S e A @

1[Option ID=22181]
2[Option ID=22182]
3[Option ID=22183]
4[Option ID=22184]
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Read the following paragraph and answer the five questions that follow :

China conducted its first nuclear test in 1964 and has maintained a no-first use policy. From
the early 1960s to early 1980s, China's potential was highly limited. China began fielding
gilo-based ICBMs in the 1980s and deploved nuclear force to enhance survivability by
absorbing first-strike, expand striking power and counter deplovments in Missile defence.
The transition to survivable nuclear forces such as mobile ICBMs and SSBNs are the most
notable aspect of its force modernization and is closely aligned with the nuclear strategy
developed by China.
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According to the paragraph what is the most important feature of Chinese nuclear force

modernization?

(1) Increasing its nuclear warhead count

(2) Transition to survivable nuclear forces such as ICBMs and SSBNs

(3) China’s development of most of its nuclear capabilities between 1960s and 1980s

(4) China’s nuclear test in 1964
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HRead the following paragraph and answer the five questions that follow :

China conducted its first nuclear test in 1964 and has maintained a no-first use policy. From
the early 1960s to early 1980s, China’s potential was highly limited. China began fielding
silo-based ICBMs in the 1980s and deployed nuclear force to enhance survivability by
absorbing first-strike, expand striking power and counter deplovments in Missile defence.
The transition to survivable nuclear forces such as mobile [CBMs and SSBNs are the most
notable aspect of its force modernization and is closely aligned with the nuclear strategy
developed by China.
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ICBM stands for
(1) Inter Country Bombing Missiles
(2) International Continent Ballistic Missiles
(3) Inter Continental Bombing Missiles
(4) Inter Continental Ballistic Missiles
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HRead the following paragraph and answer the five questions that follow :

China conducted its first nuclear test in 1964 and has maintained a no-first use policy. From
the early 1960s to early 1980s, China’s potential was highly limited. China began fielding
silo-based ICBMs in the 1980s and deployed nuclear force to enhance survivability by
absorbing first-strike, expand striking power and counter deplovments in Missile defence.
The transition to survivable nuclear forces such as mobile [CBMs and SSBNs are the most
notable aspect of its force modernization and is closely aligned with the nuclear strategy
developed by China.
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According to the paragraph, Assured Retaliation strategies requires

(1) Capability to survive the first strike
(2) Expanding one’s nuclear strike power
(3) Counter deployments to boost missile defences
(4) All of the above
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HRead the following paragraph and answer the five questions that follow :

China conducted its first nuclear test in 1964 and has maintained a no-first use policy. From
the early 1960s to early 1980s, China’s potential was highly limited. China began fielding
silo-based ICBMs in the 1980s and deployed nuclear force to enhance survivability by
absorbing first-strike, expand striking power and counter deplovments in Missile defence.
The transition to survivable nuclear forces such as mobile [CBMs and SSBNs are the most
notable aspect of its force modernization and is closely aligned with the nuclear strategy
developed by China.

Fraferfiaa wenw =1 wlgu s By v ww4i = a9 difau

= 3 99 1964 T 9T gEen ArwhE wiee G e se gee W= 9 i A s o 0o 1960 F
T & MY ¥ 1980 F TWE F MUY 7% I £ gwar Fhi fifim o ST 3 1980 F Z9 § wf
g o ot wH (AsE a5 s S ) &AW w0 gE G vew gEn o w1 IeiiEm F ae,
TR wifes &1 foean w0 o firmmss e 8 S o9 F e e wfem 4w ) e ond ot &
™ 3R UH @ W A I e At | ot (FfEe) 36 e sy & e
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In the context of China’s first nuclear test which of the following is true?

(1) India tested its nuclear weapons before China

(2) India tested its first nuclear weapons within half a decade of China's first test

(3) China's first test in 1964 guaranteed an assured retaliation strategy

(4) None of the above
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